www.rplus .com

N EFEEE

bt R BRI
B B 5%
&L
W PNEUMATIC CYLINDER
CATALOGUE
>3
I
I
HMEMIZEIIR2E sSMHEAG
R Plus Technology Co.,Ltd. Taichung head office
412478 EBH AP T KE B THE1055%21E
2F., No.105, Liyuan Rd., DaliDist,
Taichung City 41247, Taiwan(R.O.C)
TEL:+886-4-2273-1133
FAX:+886-4-2273-2233 ol
E-mail:rplus168 @ gmail.com
%iﬁﬂ¥$f&% Kaohsiung Office ifidl
811611 T B A 457238018 B
3F., No.72, Qingpu St.,Nanzi Dist.,Kaohsiung
City 81161, Taiwan(R.0.C) ] {1 Jg \ =
TE{:+886—7—365—5813 I,I_F: a“ ‘:t m'l ;i ﬁ BE L\ El
FAX:+886-7-365-5812 é‘l R Plus Technology Co.,Ltd.
[=]

FRAKEE, FRTEAN, FEFLAEBEMREHE, WERRAER,




N EFREFI R

R Plus Technology Co., Ltd. was located in Dali district
Taichung city, Taiwan. Our main products are pneumatic
automation components, including pneumatic
cylinders, solenoid valves, grippers, automatic air
scissors, electro-pneumatic regulators, digital pressure
switch, vacuum ejectors, fittings, filter hydraulic
components...etc. These pneumatic products are widely
used in semi-conductor, machinery manufacturing,

automotive, electronicindustries around the world.

Persist in satisfying the customer's needs and pursuing
the superiority in product's quality through innovation.
We have successfully attained ISO-9001:2015 and CE
certificate in 2015. Achieve quality consistency to our
high quality management system. Emphasis on
professional and have good quality assurance. Adhere
to the excellent product's quality and high professional

services. Be the benchmark of the pneumatic industry.

INTRODUCTION

MENKERABDUNREPHTAEE, TEERRTBH, G
RBEL. BB, N, mENSTT). BITLLGIRE. B B SRR
EXFEERRERANG. BERSFREMRMER. BEZERNFER,
MBS, RE. EFRWEFIEEE, FITHRERN.

FRHERMEFERENERERT, 720155H5S0-9001:2015
BlpF R ERD R B BECERD R, cEemENER, FEFEERERR

g, BESKENEERS, SIERBELZEF.

www.rplus .com

Contents s

Page
001-004

RCQ2#&5l
©12-0100

RERILBEE)

Page
005-007

RSC#3I
©32-0100

———

_

R
Page
008-012

RSIZ3I
©32-0125

Poge
013-014

RCY1SG &3l
BIER 06~D40

Page
015-016

RCY1LZ3I
[ D6~D40

Page
017-018

RCY1S/RCY1BZ 5l
BER ©6-063

ﬁﬁd%‘;ﬂ

Page

019-023
RCY3B/RCY3R#R 5l

AR ®15~D40

= 5hRE

Page
024-028
RMGP-Z %5l
#iEE ®12~d100

= h R 8L

Page
029-033
RMGPZEJI
g ®12~0100

= h R &L

034-035
RMGJ &3l
®6, ©10

EHE R

Page
036-038

RMGG I
©20~9100

Page
039-047

RMXS £ 5l

®6~D25

Page
048-055

RMXQ#5I
06~025

N £ /
Page\ j
056-058

RMXHZR 31
©6~020

Page
059-062

RMXF# 51
©8,012,016,020

Page
063-070

RMXW % 5|
©8~025

5% 435 S L jird L Pkl jird L Pkl jird L bRl

Page
071-081

RMKZ 5

18 % 5 ®12~063

Page
082-084

RMSQZ%5I

EEwEREX ®10~Dd200

Page
085-086

RCRQ2E7%I

R - R ®10~D40

Page
087-088

RCRA1E 5]
EamEER ®30~®100




Contents e« g% Contents
F R (IER)

: S
B, - -
°
s d . o
: [ ) *
Page Page Page ) Page @
140-142 143 v 144-145 { 146-147

Page Page Page Page
089 090-093 094-095 096-098
RCRJZEJ%I RMHZ2%& 3% RMHC2ZE 5 RMHY2ZE 5] RMALZ 51 RCJPZE I RCJPZE I RCJP2Z& 5]
EREERE RN ®0.5~D1 EATHEAR ®06~D40 1ZHER D06~D25 MER3180° BAEA ®10~D25 ®20~D40 D6~ 15 D6~D15 D4-~016
\- o Sy -
A 8
Page Page Page Page ; Page Page
099-102 103-104 105-106 107-109 148-151 153-161
RMHL2ZE 5l RMHF2 % 51 RMHS2% 5 RMHS3 %5 RSTH®R I RVACZ 5l RJDRNZEFI
BERI(F1TEAEIR) ®10~D40 R ©8,012,016,020 B # B (P 1TEAEIRY) ®16~D63 EAFR(FITHEAR) ©16~0125 ®50-D80 ®16~D40 RJDRN28~90

Page
110-111 112-114 115-116

RMHS4 &5 RMHT2&3%l RMHW2Z 5 RCXS &I
EITRABAR ®16~D63 BB (32 BRI EA BY) ®32~963 X EiBAIEAEER3180° BIEA ©®20~®50 HAR D6~D32

& o 5L & B 9L L B (R SR EL B R S8 EL

‘\ﬁ) 2

Page ' Page Page

Page V'
119-122 123-124 125-126 127-129
RCXSWZ#3I RCXSJ& %I RCJ2ZE 35l RCJ2Z&7%I
og=Eil) D6~D32 EiER D6~D32 ZHERI () 6,010,016 =R (BB E ) 6,010,016
1 R 58 &L R | L 1 R 5 &L B B R KRR
» d \ ,?"’:‘
,i.
Page Page Page: Page
130-132 133-134 135-136 137-139
RCM2# 51 RCM2ZE 5l RC85 % 5l RCU/RCUKZ 5
EER(EER) 20~ D40 ZER(BEIER) 20~ D40 H&S1064321Zi# ®8~D25 D6-D32




¥ PrLus

E R R EL rRcQ2z 31 (012-0100)

B L

RCQ2& %l

HAE(mm) 12 1620 25 [32]40]50] 63]80[100
fERReE =R
#5)
BMERR
i 25, BEEEBRED
1REBTEE 5 15MPa{15.3kgf/cm
e EREA 1.0MPa({10.2kgf/cm
RIEFRERE 5~60°C
1R I IR AL WIRA(R %), SMRA(EIR)
SREEENEE 50~500mm/s
FRAE 10
B rEE
R4 BALGZEE), TiEA B A(EE
TEEE W AERd f%:u’* Msx0.8 | : 1/8) JTM%:(/& : \ 3/8
T =R=RES x0.
i -
‘ ‘ MEEEB, #EABETIHHSOVG32,
BSERTAH & STERA
OFFHBEE. 16, 1772 20, #EhiEsl, RmWEL, EFEESE. RCQ2B-20D
), - ~|RLvD- - - I m, s N co e
Ex3; RCQ2 [o ][ m]-fuoo] QFFBELE; 32, 1752 100, WHIK BRI T MBS i SMERIRIB
41, FHEASE. RCDQ2A32-100DCM
pawRD. e Q2 [o][<] bR
—gn "
\ 1792 /B B B 42
= BEAE
o Rt B B3R
#a) By
12 5,10,15
= 19,12, 5,10
- —12-®12mm P 20,25,30
16-®16mm f7ig= 20
5,10,15,20,25,
. | 20-®20mm P 30,35,40,45,50 5,10
B
25-025
B m BiE a 5,10,15,20,25,
§7 32-®32mm D[ #5 = 30,35,40,45, 5,10 RYLD-07
40-®40mm S[En@ERER) 40 50,75,100
oo T|Em@ERE) R %0 1 isa0 10.20
so_maozm 5% w - 5o
- i) — 40.45.50. .
L 100-®100mm SR 80 75,100 AE A
C RIBAEE 100
EERAAERAZE O50mm o m
NIRRT RS BET) BEM BB BN OT S AR B 2 K51
== FHR
NBEERETETHHME
R E% mE FSE Ey4 7E
4 8 10
1 ” > - i
12 3 3 i i PER | amsmEmD)
o /-
E"W_ﬂ_‘_l 3 | wzeum NBR 4 | omem W
- Il
& //;]'\4 5 B ZORE NBR 6 GIES 6061
L\ 7 AR 6063-T5 8 EE 6061
9 SEEBOR NBR 10 ®E 6063
1
@m | &® | = s .
012 ®16 ®20 025 032 40 ®50 063 ®80 ©100
9 B HHE RMYA-®6 | RMYA—®8 | RMYA-®10 | RMYA-®12 | RMYA-®16 | RPDU-®16 | RPDU-®20 | RPDU-®20 | RPDU-®25 | RPDU-®30
10 | sEZm#E |NBR| RAPA-012 | RAPA-®16 | RAPA-®20 | RAPA-®25 | RAPA-®32 | RAPA-®40 | RAPA-®50 | RAPA-®63 | RAPA-®80 | RAPA-®100
11| przomm ©7.8x1.8 | ©12.5x1.8 | ®17x1.8 | ©22x1.8 | ©29x1.8 | ®©36x1.8 | ©47x1.8 | ©59x1.8 | ©75x1.8 | ©95x1.8
T EE R RCQ2B12-PS|RCQ2B16-PS|RCQ2B20-PS | RCQ2B25-PS |RCQ2B32-PS |RCQ2B40-PS |[RCQ2B50-PS |RCQ2BE3-PS|RCQ2B80-PS | RCQ2B100-PS
£ S
m’ﬂ!ﬁmﬂ?ﬁﬁ%ﬁ@ www.rplus .com

RCQ2 & %l

v R

X

HEIRE

EFLR#E/RCQ2B
©12~®25 HIZEUH BUREC AxONIBIL ©32~®100
8x DO FL
Q E b IR Q. .
[mEiq o_
EF:3
7 L
o o3 O
L. B |
| B
HEEHRARTR
)RR
BUSE ’ﬁ(ﬁf) B oD | E F H Clol|J|K]|L M oN 0 P Q w z
RCQ2B12-01D 5~30 17+st 6 25 5 M3x0.5 6 32| - | 5|35 155 3.5 6.5%%3.5 | M5x0.8| 7.5 - -
RCQ2B16-[D 5~30 18.5+st 8 29 | 55 M4x0.7 8 | 38| - |6 35| 20 3.5 6.55%3.5 | M5x0.8 8 - 10
RCQ2B20-[1D 5~50 19.5+st | 10 | 36 | 5.5 M5x0.8 7 | 47| - | 8|45 255 55 9RT7 M5x0.8 9 - 10
RCQ2B25-[1D 5~50 225+st | 12 | 40 | 5.5 M6x1.0 12 | 52| - | 10| 5 28 55 9OF7 M5x0.8 | 11 - 10
~ 5 55 - M5x0.8 | 11.5
RCQ2B32-[1D 10-50 23+st 16 | 45 [—5—| M8x1.25 | 13 | 60 |4.5| 14| 7 34 55 9R7 /8 105 ] 495 14
RCQ2B40-LID 5~50 29.5+st | 16 | 52 8 M8x1.25 | 13 | 69 | 5 | 14| 7 40 5.5 9R7 1/8 11 57 | 15
RCQ2B50-LID 10~50 30.5+4st | 20 | 64 | 105 | M10x1.5 | 15 | 86 | 7 | 17| 8 50 6.6 11358 1/4 10.5 71 19
RCQ2B63-[1D 10~50 36+st 20 | 77 | 10.5| M10x1.5 | 15 [ 103 | 7 |17 | 8 60 9 143%10.5 1/4 15 84 | 19
RCQ2B80-LID 10~50 43.5+4st | 25 | 98 | 125 | M16x2.0 | 21 | 132| 6 |22 | 10 | 77 11 [17.5%13.5| 3/8 16 104 | 25
RCQ2B100-C1D 10~50 53+st 30 | 117 | 13 | M20x2.5 | 27 | 156 (6.5 27 | 12 | 94 11 [17.55%13.5| 3/8 23 | 1235 25
H2)R1TEE
AIZE 75 (mm) B E P Q H#1) BT RES5mmIER
32 75,100 33 7.5 1/8 10.5 #H2) BRIEF AR, BALRRER ST MmiE R RERT 2.
40 75,100 39.5 8 1/8 11
50 75,100 40.5 | 10.5 | 1/4 10.5
63 75,100 46 105 | 1/4 15
80 75,100 535 | 125 | 3/8 16
100 75,100 63 13 3/8 23
BYPRERTE st=1712
B F P Q
RISE oD | E H Clol | J| K |L|M|ON ®0 w |z
5st | 10st | 20st 5st | 10st 5st 10st | 20st | 5st | 10st
RCQ2B12-[IS| 22 | 27 - 6 | 25 | 5 5 M3x0.5 6 |32 | - | 5 |35[15.53.5|6.5%3.5| M5x0.8 - 75| 75| - | -
RCQ2B16-[0S| 23.5|28.5| - 8 | 29 |55 |55 M4x0.7 8 [3 | - | 6 [35|20|35]|65%3.5| M5x0.8 - 8 8 - |10
RCQ2B20-[1S|24.5|29.5| - | 10 | 386 |55 |55 M5x0.8 7 |47 | - | 8 |45|255|55| 9R7 M5x0.8 - 9 9 - |10
RCQ2B25-[1S | 27.5| 32.5 - 12 40 | 55 | 55 M6x1.0 12 | 52 - 10 5 | 28|55 9R7 M5x0.8 _ 19 11 _ |10
RCQ2B32-[JS| 28 | 33 - 16 | 45 |55 |75 M8x1.25 13 160 | 45|14 | 7 | 34|55 9R7 M5x0.8‘ 1/8 - 11.5] 10.5 [49.5| 18
RCQ2B40-[1S | 34.5|39.5| - 16 | 52 | 8 8 M8x1.25 | 13 | 69 | & | 14 | 7 | 40 | 55| O%7 1/8 - 11 11 | 57 | 18
RCQ2B50-[1S - 40.5 | 50.5| 20 64 |10.5 [10.5 M10x1.5 15 86 7 17 8| 50| 6.6 11388 - ‘ 1/4 10.5] 105 | 71 | 22
AR AR MR AL 3 P R R B/RCQ2A BB EEREYH 012-050
Q PO
Qs R R
(T L —
" A
SEERIMEAL #E3) 7 it A SR AL EREHEREE
JElc | x | oD H L] « s 0 R e A L
mm
12 9 10.5 6 M5X0.8 14 5 12 M4X0.7 7 5st 10st | 20st | 5st 10st | 20st
16 10 12 8 M6X1.0 | 155| 6 16 M4X0.7 7 12 305(405| - |85 |135| -
20 12 14 | 10 M8X1.25 | 185 | 8 20 M6X1.0 10 16 32 | 42 - | 85 |135]| -
25 15 | 17.5| 12 M10X1.25 | 22,5 | 10 25 M6X1.0 10 20 34 44 - 9.5 | 14.5 -
32 20.5| 235| 16 M14X1.5 | 28.5| 14 32 M6X1.0 10 25 37.5|47.5 - 10 15 -
40 | 205 235| 16 M14X1.5 | 285 | 14 40 M6X1.0 10 32 40 | 50 - 12 | 17 -
50 26 | 28.5| 20 | M18X1.5 | 335 | 17 50 M8X1.25 14 40 465|565 | - 12 | 17 -
63 26 | 285| 20 | M18X1.5 |335| 17 63 M10X1.5 18 50 - | 685 |785] - 18 | 28
80 | 325|355 25 M22X1.5 | 43.5 | 22 80 M12X1.75 22 BRAEFRRIEN, B BEKER T WG B RE
T8 —
100 | 32.5|355| 30 M26X1.5 | 43.5| 27 100 M12X1.75 22 RyR—#&

www.rplus

.com

HMIETFHXERAE]

R Plus Technology Co.,Ltd

| 002]




SR

HBRE

RCQ2& %l

RCDQ2B
12~025 MmN i84:. RCDQ2A
— 0-$241 QUg& R ﬁ’
HIZ 438 FUR BEC o !
e
T ' 5 B Wae5VE 110
N |
n w N
[a) iy - 18 i SR AL
Lf H
i & =y o?ﬂ‘p:
©
2xONBF, Lal  JFls2xM5x0.8 c M
IxDOETL, B+i7% EEOK
A+172
FE3) M i R SR AT
HLAE(mm) (0] R
12 M4x0.7 7
16 M4x0.7 7
20 M6x1.0 10
25 M6x1.0 10
32 M6x1.0 10
40 M6x1.0 10
©32~ D50, ®63~D100
. o | st b M8x1.25 14
‘ BRI NEHERI0  mpI 20 X
AXONEIL a = 63 M10x1.5 18
8xOQIEFL 2xP(RCNPT.G) |~ > 80 M12x1.75 22
EEAL 100 M12x1.75 22
R 125 S A
vilan _ 6@ L FEmm) | c | x |[oD H L | K
H e N\
12 9 [ 105] 6 M5x0.8 | 14 | 5
— 16 10 | 12 8 M6x1.0 | 15.5| 6
20 12| 14 | 10 | M8x1.25 [185] 8
L B+1712 25 15 | 175 | 12 | M10x1.25 | 22.5] 10
A+1TFE
£ 32 205|235 | 16 | M14x1.5 | 28.5| 14
w 40 205|235 | 16 | M14x1.5 | 28.5| 14
50 26 | 285 | 20 | Misx1.5 |33.5]17
63 26 | 285 | 20 | Misx1.5 |33.5(17
80 32.5| 35,5 | 25 M22x1.5 | 43.5| 22
100 |32.5| 355 | 30 | moex1.5 | 43.5]27
1) = 20 =
mIgE ”ﬁﬁ]ﬁ) A | B |op| E| F H clo | y|K|L|M|oN ©0 P a|l s | u|v]|z
RCDQ2B12| 5~30 |315| 28 | 6 | 33 | 6.5 | M3x0.5 6 - - | 5 |35|22|35]| 65%3.5 M5x0.8 | 11 | 275 | 14 | 25| -
RCDQ2B16| 5~30 34 |305| 8 | 37 | 55 | M4x0.7 8 - - | 6 |35|28|35]| 65%3.5 M5x0.8 | 10 | 295 | 15 | 29| -
RCDQ2B20| 5~50 36 |315| 10 | 47 | 55 | M5x0.8 7 - - | 8 |45|36]| 55 o7 M5x0.8 | 10.5| 355 | 18 | 36| -
RCDQ2B25| 5~50 |37.5|325| 12 | 52 | 55 | M6x1.0 12 | - - 10| 5 |40]| 55 o7 M5x0.8 | 11 | 40.5 | 21 | 40| -
RCDQ2B32| 5~50 40 | 33 | 16 | 45 | 7.5 | M8x1.25 | 13 | 60 | 45|14 | 7 |34 55 o7 1/8 10.5| 585 [31.5 | — | 14
RCDQ2B40| 5~50 |46.5|39.5| 16 | 52 8 M8x1.25 | 13 | 69 5 14| 7 |40| 55 o7 1/8 11| 66 | 35 | - | 15
RCDQ2B50| 10~50 |48.5|40.5| 20 | 64 | 10.5| M10x1.5 | 15 | 86 | 7 |17 | 8 |50 6.6 1138 174 105 80 | 41 | - | 19
RCDQ2B63| 10~50 | 54 | 46 | 20 | 77 | 10.5| M10ox1.5 | 15 [103 | 7 |17 | 8 |e0| 9 14310.5 1/4 15| 93 |475 | - | 19
RCDQ2Bs0| 10~50 |63.5 |53.5| 25 | 98 | 125| M16x2.0 | 21 | 132 | 6 |22 | 10|77 | 11 | 17.5813.5 3/8 16 | 1125575 | - | 25
RCDQ2B100] 10~50 | 75 | 63 | 30 | 117 | 13 | M20x2.5 | 27 | 156 | 6.5| 27 | 12 | 94| 11 | 17.5813.5 3/8 23 | 1325|675 | - | 25
H2)RTE 075-0100
P H1ERgREEE 7
Bk | 58(mm) A B E P Q F1)IEREGEEE5mMmMAER
32 75~100 | 40 | 33 75 | 18 | 10.5 2B B RIIRR, BILBRER T RM BRI TR,
40 75~100 | 46.5| 39.5 8 1/8 11 FE3)smmiTRERAI R SR —EH MR
50 75~100 | 48.5| 40.5 | 10.5| 1/4 | 10.5
63 75~100 | 54 | 46 | 105| 1/4 | 15
80 75~100 | 63.5| 535 | 125| 3/8 | 16
100 | 75~100 | 75 | 63 13 | 3/8 | 23
£+ G\N=
ﬂ!ﬁf#ﬁiﬁ%ﬁ%ﬁ@ www.rplus .com

RCQ2 & %l

IR

HEIRE

JNEFEEF]

RI—GO12. RI-ZO15A (1) RI-GO4. RI-GO5 RY-GO12, RY-ZO15A yaiegp} iz RY-GO04. RY-GO05
RI_Go2. RI-GO3 mEpgEsE  RI-G08. RI-G10 RY-G02. RY-G03 RY-G08. RY-G10
DH10 MM ®NDH10 L MM ®NDH10 MM ®NDH10
_ RR1 — RR1 L e
BT -f+- E| ' o o o L[
L LK NX—H L NX ‘ \J
s NX Al [ut, NZ AUt A1UT
L1 ] NZ L1
A A

BA |2 4 BE YA B BT
ﬁ:[f:né H10 H10
(mm) | THE | A | A1 E1|L1 MM Rri | U1 ND NX | ¢ | A | A1 E1 | L1 MM RR1| U1 | onD NX | Nz| L
12 | R1-G012 |21.5| 6 |[[J10|16| M5x0.8 |6.3 | 7 5 (0% | 5 0% IRY-Go12 [215| 6 |O10| 16| M5x0.8 [6.3 | 7 | 5 %% | 5 24| 10|14.6
16 |R1-2015A|32| 8 |C12|25| M6x1.0 | 8.1 | 14 | 5 %% | 6.420% [Ry-z015A | 28 | 11 |T12| 21| Mex1.0 | 8.1 |10 | 5 :°% |6.510% | 12|16.6
20 | R1-GO02 |34|8.5|016|25| M8x1.25 [10.3|11.5| 8 ;°%° | 8 0% | Ry-Go2 | 34 | 8.5 |16| 25| M8x1.25 [10.3|11.5| 8 *°° | 8 03| 16| 21
25 | R1-GO3 |41(10.5/[020 |30 | M10x1.25 [12.8 | 14 | 10 ;%%% | 10205 | RY-G03 | 41 |10.5|/(020| 30 | M10x1.25 | 12.8 | 14 | 10 3% | 10 103 | 20| 25.6
32,40| R1-GO04 |42| 14 | 02230 | M14x1.5 | 12 | 14 | 10 ;% | 18202 | Rv-G04 | 42 | 16 | ®22| 30| M14x1.5 | 12 |14 | 10 ;%% | 18 %35 | 36 [41.6
50,63| R1-GO5 |56 | 18 |28 [40 | M18x1.5 | 16 | 20 | 14 3°°° | 22792 | RY-G05 | 56 | 20 |®28| 40| M18x1.5 | 16 |20 | 14 ;7% |22 105 | 44 |50.6
80 | R1-GO8 |71|21 | ®38|50 | M22x1.5 | 21 | 27 | 18 ;%°7° | 2870% | RY-G08 | 71 | 23 | ®38| 50| M22x1.5 | 21 |27 | 18 ;%" |28 105 | 56| 64
100 | R1-G10 |79 | 21 | ®44 |55 | M26x1.5 | 24 | 31 | 22 :00% | 32702 | RY-G10 | 79 | 24 | @44 55| M26x1.5 | 24 |31 | 22 ;0% |32 102 1 64| 72
— BT T IR S T

(mm) TSR ®Ddg L ®d I m t

12 |R1Y-GO12| 5 oo | 14.6| 4.8 [10.2] 15 | 0.7 U‘ 2

-0.030 e 8

16 R1Y-J015 | 5 Zooe0 | 16.6 | 4.8 | 12.2 | 1.5 | 0.7

20 R1-G02 | 8 0676 | 21 |76 |16.2 |15 | 0.9 ml t ‘ tlm

25 R1-G03 | 10 007 |25.6 | 9.6 | 20.2 [1.55|1.15 L

30,40 | R1-GO4 | 10 26378 | 41.6| 9.6 | 36.3 |1.55(1.15

50,63 | R1-GO5 | 14 20053 | 50.6 |13.4 | 44.2 [2.05|1.15

80 R1-G08 | 18 20053 | 64 | 17 |56.2 |2.55|1.35

100 R1-G10 |22 2999 | 72 | 21 | 64.2|2.55|1.35

www.rplus .com R’F’!i H}»?EEFEUL‘EI




& @
Y PLus BERI(ERE RSC# 3 RSC# 3 BERI(RRE) | L ‘

RAE(mm) 32 [ 40 [ 50 [ 63 | 80 | 100 R A& (mm) 32 20 50 63 80 100
zgz; *ﬁ(mfﬁ%ﬂﬂﬂ - EEIRIME(mm) 12 16 20 20 25 25
ik ] 2 5R(AE40 p mykE A8 R > m > m - ] > e - m - m
Bz |[RSCRSI | HAZ FAR FBE CAR CBAE LBAE TCH TCMIA BRI . [’f@]i; — I’f@l—&: | l%EEaﬁ_&: [ El?ﬁébi; | : l@@z_&: | l?ﬁj;ﬂ [
MK |RSCD ASCIZS] EAR FAR LBE TCE TCMIE _ i B Fifl JE 4 Fifl B R g A Fiffl B Rt B R
FRAENGE 0.1~1.0MPa(14~145Ps) SBERE(mm’) 804 690 1256 1055 1963 1649 3117 2803 5026 4536 7853 7362
e REWMEN 1.5MPa(215Ps) 0.1 80.4 69.0 125.6 | 1055 | 196.3 | 164.9 | 311.7 | 280.3 | 502.6 | 453.6 | 7853 | 736.2
- TYERETC -20~80 02| 160.8 | 138.0 | 2512 | 211.0 | 392.6 | 329.8 | 623.4 | 560.6 | 1005.2 | 907.2 | 1570.6 | 1472.4
EREEHEMM/s 30~800 03 | 2412 | 2070 | 376.8 | 3165 | 588.9 | 494.7 | 935.1 | 840.9 | 1507.8 | 1360.8 | 2355.9 | 2208.6
HRAZHE 0~250"% 251~1000"5" 1001~1500"5" =g 0.4 | 38216 | 276.0 | 502.4 | 422.0 | 785.2 | 659.6 | 1246.8 | 1121.2 | 2010.4 | 1814.4 | 3141.2 | 2944.8
ﬁ%éﬁfiﬁ TREE BH 0.5 | 402.0 | 3450 | 628.0 | 527.5 | 981.5 | 824.5 | 1558.5 | 1401.5 | 2513.0 | 2268.0 | 3926.5 | 3681.0
%fiﬁ&mm S PT2114 PT‘3828 PTZ?Z (MPa) 0.6 | 482.4 | 4140 | 7536 | 633.0 | 1177.8| 989.4 | 1870.2 | 1681.8 | 3015.6 | 2721.6 | 4711.8 | 4417.2
*t3 /m
BEOE 8] / | / / 07 | 562.8 | 483.0 | 879.2 | 7385 | 1374.1 | 1154.3 | 2181.9 | 1962.1 | 3518.2 | 3175.2 | 5497.1 | 5153.4
* 3z ot N:
EEFWAENPT, GHF 4IRS, 0.8 | 6432 | 552.0 | 1004.8 | 844.0 | 1570.4 | 1319.2 | 24936 | 2242.4 | 4020.8 | 3628.8 | 6282.8 | 5889.6
- — 09 | 7236 | 621.0 | 1130.4 | 9495 | 1766.7 | 1484.1 | 2805.3 | 2522.7 | 4523.4 | 4082.4 | 7067.7 | 6625.8
RSC RSCD RSCJ 77| RS s o BA|BH IER~TE ZEX
=N s B S - ol
32 | 25507580100 125 150 160 175 200 250 300 350 400 450 500 1000|2000 RSC AL
RSC-S RSCD-S RSCJ-S 40 1200/2000 < AB AC+1712
RSC DA, MAIZAD
RSC 25 50 75 80 100 125 150 160 175 200 250 300 Ty 2-P
Rsc 221350 400 450 500 600 700 800 900 1000 150012000 E By =
80 1500|2000 . % & 4
=
100 1500{2000 ol : !
. ERAGREBER, £FR=1600mm, FIHERE, REHKTRERAATHE, /8 -_—
AT
EEAES B
1. RISEEERE; . MEAEEAKR#EEZ RTHEE,
o, AEZFHFARMNERBHEE, RIBE, FRAE; -
3. BRAAERGH, A SHESHMETAEE, TENT, FL&/55% | A AB | AC| AD | AE B D DA E EA F FA H K KA | KB M MA P PA | PB
4. SUSO 155524 G ML, FIGIHERSCRIISEL &/ 32 |140] 47 | 93 [27.5]27.5) 45 | 12 | 32 [ Mmiox125 | 22| 17 | 6 | 10| mex1.0 |95 33 | 28 | 15 [1/8'] 14 | 55
5. RELEBEFHAEFE;
40 142| 49 | 93 |27.5|27.5| 50 | 16 | 34 | M12x1.25 | 24 | 17| 7 | 13| M6x1.0 | 95| 37 | 32 | 15 |1/4"| 15| 6
6. ZEMICHRIRRAREMR 4 ITHE PIRBER;
7 RIERERMEME, TRBRA LA S0CH T E S T, 50 150 | 57 | 93 |27.5|27.5| 62 | 20 | 42 | M16x1.5 | 32| 23| 8 | 17| Mex1.0 | 95| 47 | 38 | 15 [1/4"| 17 | 8.5
63 153 | 57 | 96 |27.5|27.5| 75| 20 | 42 | Mi6x1.5 | 32| 23| 8 | 17 | M8x1.25 | 95| 56 | 38 | 15 [3/8"| 15 | 9.5
80 182 75 | 107 | 33 | 33 | 94 | 25 | 54 "
£T B 5 M20x1.5 | 40 | 26 | 10 | 22 | M10x1.5 [11.5] 70 | 47 | 21 |3/8"|19.5| 10
100 | 188 | 75 | 113| 33 | 33 [ 112| 25 | 54 | M20x1.5 | 40 | 26 | 10 | 22 | M10x1.5 |11.5| 84 | 47 | 21 [1/2"[16.5] 11
RSC — 50 X 50 — S — ] — | — O 125 | 203 | 88 | 115| 38 | 38 | 140| 32 | 68 | M27x2.0 | 54 | 41 |13.5| 27 | M12x1.75| 21 | 110| 52 | 20 |1/2"| 20 | 14
‘ ‘ ‘ ‘ ‘ ‘ ‘ 160 | 239|113 | 126 38 | 38 | 180| 40 | 88 | M36x2.0 | 72 | 55 | 18 | 36 | M16x2.0 | 21 | 140| 62 | 25 |3/4"| 20 | 15
RSCD — 50 X 50 — S — O — O — O
‘ ‘ ‘ ‘ ‘ ‘ ‘ 200 244 1118|126 38 | 38 | 220| 40 | 88 | M36x2.0 | 72 | 55 | 18 | 36 | M16x2.0 | 21 | 175| 62 | 30 [3/4"| 20 | 15
RSCJ — 50 X 50 - 20 — S — g - o - o 250 294 | 141|153 | 48 | 48 | 280 | 50 | 108 | M42x2.0 | 84 | 65 | 21 | 46 | M20x2.5 | 26 | 220 | 86 | 35 | 1" |25.5| 22
T I o 1 ﬁT - T RSCD P
HE 172 RETRE BH MY FRRES o —
10_[10mm EERRGEY EENNRE: R 208
10 [ 10mm =8 | TPU =
20 | 20mm N NBR T NPTZF _ En
30 | 30mm = G: G 7
30 | 30mm H I G | GF & o TR | Al e 51 c | E Z N K
40 | 40mm N 0E!-J B Rty Mebiebibitibie bt ST
50 | 50mm 32 187 | 182 | 47| 93 [ 32| 27 | 6 | M10x1.25
75 75mm B AR | —
] fo | fomm 40 191 | 185 | 49| 93 [ 34| 28 | 7 | M12x1.25
Z5E 100 | 100mm EEEES BAR it
RSC | E#EEHE RSCJ 50 207 | 194 | 57| 93 | 42| 29 | 8 | M16x1.5
o mmys imee
RSCD | S##mig®n RSC,RSCD,RSCJ ARTRXREBGR 63 210 | 197 | 57| 96 | 42| 29 | 8 | Miex1.5
RSCJ | #HiiE g {7z I 82 g C+i7% LR
ﬁsﬁﬁﬁﬂﬁmﬁ RSC RSCD RSCJ Z+EEBTE 80 257 | 238.5 | 75| 107 | 54 | 35.,5| 10 | M20x1.5
" ) ) = - Jig
=8 | Af#%A ® 100 263 | 2445 | 75| 113 | 54 | 35.5| 10 | M20x1.5
rRsC e e O —— | g . 1. B R A #E 2 R<THEE.
@ K ERSUZR 5@ A = == 2. RIFFZ RTHRSCIE#ERERE,
RSC,RSCD,RSCJ | ETCM1EEf# B
= Y \=] o {2 T TN=
W%@ﬂiﬁ%ﬁﬁ@ www.rplus168.com www.rplus168.com Fﬂiﬁﬁ?”éf‘ﬁ'm




R PLUS RERE(EEE) RSCH 3l RSIZ 5 wrasotsssoigie AL L BIER

Bt 14 S EB 1R 4& RSIF 5 E R E

LB | cA 1SO155524& # & 4T REEERAAREE
©32-®100 | ©32~0100
| 148, 32, 40, 50. 63. 80
i AHTE . 100, 125, 160, 200 o -
E C+TiE 3 BERBREAEER
. i A ! " TR b U £ B
: B B fﬁ‘_} E AR —o REBBMMDR, RLYD-21
: (I @ | SSEKTR, TS, PSS FREPI-1 -G
i £
: 5 Ja) 2 i
T T T 1 P
AD|_AG AG_|AD |
| AC+/T2 29 ! “%J ! N @ = J
AA+{TIE | - & EiE E RIS R
: [ ODE
| L
: /’\ Pz ‘
| & @ S}
''''''''''''''''''''''''''''''''''''' TS TmTmmooSoommosoooommmmoSoooooooes 108 YiZEH FEER  RIRER
©125~0250 : ®125~0250
1 A+4ﬁ$§
! c+i3E - .
A R S gEAKXRE
1 a
A+{TE ! @ L-F,_ ®
C+E | &l adoo
ity | J
| DD ENEEE RSID: & 85 &5 RSIJ: & 848 B) 772 ] s B
H T ! DC
<< | DJ
77777 Adl |_fap E Fa
AC+TIE |
AA+TT2 \ IR
! | QF ©DE

HIE/59% | A | C | AA| AC |AD|AE| AF | AG| AH | AP | AT G/ | A C |DC|DD |[DE | DJ |[DQ| S T
32 140 93 | 163 | 134 [95 |50 | 33 [205] 28 | 9 | 3 32 140 | 93 | 34 [ 445 | 12 9 16 | 45 | 33
40 142 93 | 169 | 140 [145] 57 | 36 [235] 30 | 12 | 3 40 142 | 93 | 34 [ 465 [ 14 9 20 | 49 | 37
50 150 93 [ 173 | 149 [ 12 [ 68| 47 | 28 [ 365 | 12 | 3 50 150 | 93 | 34| 46 | 14 | 10 | 20 | 61 47
~— LA, 3
63 153 96 | 184 | 158 [ 13 [ 80| 56 | 31 | 41 [ 12| 3 63 153 | 96 | 34 [465 | 14 | 10 | 20 | 74 | 56 S EREHhE o2 3 B {5 P (38 i i)
80 182 107 | 199 [ 167 [16 [ 97| 70 [ 30 | 49 [ 14| 4 80 182 | 107 | 48 | 645 20 | 14 | 32 | 93 | 70
100 188 113 | 209 | 173 [ 18 [112] 84 [ 30 | 57 |14 | 4 100 188 | 113 | 48| 66 | 20 | 14 | 32 | 111 | 84 e
7. 4| (ND 15 3 AP ET .
126 [203] 115 | 221 [ 185 [ 18 [136] 104 | 35 | 70 [ 17 | 6 125 203 | 116 | 32 | 52 | 20 | 17 [31.7] 135 | 104 il Em | FB) | SEEE SR E S (MPa) 1 TFPREERCE, BRRHLDRBIRT
160 239 126 | 246 | 206 | 20 [174[ 134 | 40 | 91 |17 | 8 160 239 | 126 | 40 | 68 | 28 | 195[39.7 | 173 | 134 W@é&b@ B | mm?) [ 01102103104 051 06 071 08 09 2, AERABEEAMRET, FEERMBREIM SRRt
200 244 126 | 276 | 226 | 25 [214| 163 | 50 [113.5| 22 9 200 244 126 60 90 28 23 39.7 | 213 163 2 12 i A 804 80.4 1 160.8|241.2 | 3216 | 402.0 | 482.4 | 562.8 | 643.2 | 723.6 R,
250 [294| 153 | 323 | 273 | 25 [267] 201 | 60 | 141 | 26 | 15 250 294 | 153 | 70 | 106 | 36 | 24 | 49.7 | 255 | 202 18I 690 | 69.0 | 138.0|207.0 | 276.0 | 345.0 | 414.0 | 483.0 | 552.0 | 621.0 - Y _ jemaie A =
40| 16 |3 P 1256 [1256 251.2376.8| 502.4 | 628.0 | 753.6 | 879.2 [1002.4|1130.4 3. EREX, BED, AEENE. BR. WENES, Wil
B {8 1055 | 105.5|211.0316.6 | 422.0 | 527.5 | 633.0 | 738.5 | 844.0 | 949.5 FEFREVU Z80F55E 1 ;
i [¥PEI 1963 | 196.3|392.6 | 588.9 | 785.2 | 981.56 |1177.8/1374.1|1670.4|1766.7 ST A AT A B e A
50| 20 % iRl 1649 | 164.9|329.8 | 494.7 | 659.6 | 824.5 | 989.4 | 11543 1399.2|1484.1 4 REEABER, VABSEENEY, WHILADENRI
63| o0 | JPEI 3117 [311.7 /6234 9351 |1246.8| 1658.5 1870.2|2181.9 24936 28053 A
B I 2803 |280.3|560.6 | 840.9 |1121.2/1401.5|1681.8|1962.1|2242.4|2522.7 5. RIEHANBESE40 u mM ERIVEBEA ST EH;
0| o5 |1 FPEI 5026 [502.6 1005.2/1507.8/2010.4]2513.03015.6 3518.24020.8| 4523.4 N e \’\ N
& 71l 4536 | 453.6 | 907.2 |1360.8 1814.4| 2268.0 2721.63175.2|3628.84082.4 6. AEARERET, MIREUARBEHNE, FIARRPEIKDRDS;
100 25 # BRI 7853 | 785.3 |1570.6|2355.9/3141.2 |3926.5 | 4711.8 | 4288.2|6282.4 | 7067.7 7. REllcAmESCLH S EE, BENSEERER/]\, TP
3 (77 7362 |736.2 [1472.4/2208.6/2948.6|3681.0|4417.2|5153.4|5889.6 | 6625.8 e N e 1 e
19| 3, |i PP 12272 [1227212454.4/3681.6/ 49088 | 6136.0| 73632 |8590.4|9817.6[11044.8 B, UEESAAESmMEERL;
3 7708 11468 [1146.8/2293.6/3440.4/ 4587.26734.06880.88027.6(9174.410321.2 8. Ril/E [{EBIENERIAERBSEIBEE, LSRN
o < SR B2 AIOEE,
i |#BE 20106 [2010.6/4021.2/6031.8/8042.4 |10053.0/12063.6/14074.2|16084.8/18095.4 . e
160 40 g TR 18849 |1884.93769.8|5654.7 7539.6 | 9424.5 11300.4/13194.3|15079.2/16964.1 R TP REARRE:
200 40 | FPEI 31416 [3141.6/6283.2(9424.8]12560.4|15708.0(18849.6/21991.2|26132.828274.4 9. WELH N=BSENEA, FRERENS. EHROMIPE
3 |77/ 30157 [3015.7/6031.4/9047.1/12062.8/15078.5/18094.2|21109.9|24125.627141.3

IBEEIE,

EX N P a1 £ NS
%’i#ﬁiﬁ%ﬁﬁ@ www.rplus168.com www.rplus168.com h’:@i’ﬁﬁ@"&“ﬁ'



RSI RSID RSIJ
B - = . =

RSI-S RSID-S RSIJ-S

1. 1ISO15552(JRISO6431)1Z # & 41

2, BETHRAMBYREZHEHE, GHENR,
EHR, XPENE;

3. KRFAEE, ENIE, BHEMERLT;

4, REZEHHEHFRE;

5. ZBHRBMRE LR REM TR IRIEER,

RSI

|
RSID160 [] x50

EAREL #415015552z

RSIR 5

B
A& (mm) 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
ENERLT HEE
SRR ZER(1E40 p mEL EIEABER)
@E |RS EAR FA FB CA CB CR LB TC FTC TCM1 TCM2
B |RsID RSl EAR FA LB TC FTC TCM1 TCM2
B 0.15~1.0MPa(22~145psi)(1.5~10.0bar)
IReSMmER /] 1.5MPa(215psi)(15bar)
TIERE C -20~70
[EFAREEHE mm/s 30~800 \ 30~500
TIRAESE 0~250"5° 251~1000"%° 1001~1500 5"
i -geapiteay OFERE
BETE 27 \ 30 \ 36 | 40 50
BEOE &) PT1/8 | PT1/4 | PT3/8 | PT1/2 PT3/4
) BEFEECH. NPTH I E

P = 2y
2 BEEE(mm) o
32 |2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 1000|1800

40 125507580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 |1200]/1800

50 2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000|1200 1800

63 2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000|1500 1800

80 2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000|1500 1800

100 25507580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 | 1500 1800

125 125507580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000|1500/ 1800

160 25507580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 | 15002000

200 |2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500|2000

AHEEHRTEFRAASME,

160 [J x50 s OO0

[
sO 0O

RSIJ 160 [1x50 -20 S [

i

[

nipe

DRARRIE Q% | QFEEEME @782 ORETRE (Gf2=kie 7 DEERR 1) @HmEEME QF BB
=] )
LB [ T
FA {7
FB ]
RSI R %45 &) E CA Ik
CB B«
2 - et
50 f3ligae] FTC o§ ]
63 A PERE 2 S <[5 =Ea. =,
80 | A:SUS42002 | #EFRIIE L R e
RSID: & 848 &7 lgg B:SUS304 : Eo «— N: NBR T. NPTHF
160
200 LB ]
%8 FA ]
RSIJ: 8 8hig B 772 o SH R 30 FTC g =
40
5 -
100 Te

1) CRIM$4EICBECE M ; FTC. TCHHHETCM1. TCM2EE&E M.

m HIEFHXERASE]

R PIis Technology Co.Ltd. / WWW.rplus .com

RSIR 5

% &1Ss015552im# 12 Ak f &I

P: WEHE g

RSl F#| &8 e B 2% H"HE
1 DG (9 404 43 4 1] &8 WV 58 9 BB BE=
2 | Eme S45CHEMRIBHERE | 10 | HEOD TPU
DETE RiBsm 11 MER MK
} | r—— 3 | AIEOS TPU 1 - BB(® 1002 F)
‘E| 4| mE BE® ’ BBED)
T i e e = 5 WE M B R 13 | BRE i
6 | REOD TPU 14 | EBERBEE TPU
2@ ® ®443 4 7| e Bo% 15 | #= BeE
8 [BEMEOT NBR 16 | SZAFIRIB i SN S5 80
ShERIEE
RSI L
A+1T12
AB AC+TZ
DA __MAL AD_ EBEH5EH AE_| NA
EA s
FA s  ———
z &l: -|@ |-
8] uj 7§ 7777777 %jf j
g/ Jl | |
agng =P
PA PA
5175755 | A |AB|AC|AD|AE| B | D |DA E EA| F | FA | M |[MA| H |K(RHITC) |K(HITC) |[KA(RHITC)|KABHTC) KB | N |[NA| P |PA |PB
32 142|148 |94 |27.5|27.5| 47 12|29 |M10X1.25[22|17| 6 [30[19]|10 M6 M5 16 14 325/ 30| 3 |PT1/8| 13 |5.5
40 159|154 |105| 32 | 32 | 53 |16|33|M12X1.25[24 |17 | 7 |35|21|13 M6 M5 16 16 38 | 35 |3.5|PT1/4] 17 | 6
50 175169 [106| 31 | 31 | 65 |20|42| M16X1.5 |32 23| 8 |40 |27 |17 M8 M6 16 16 46.5| 40 |3.5|PT1/4|15.5| 7.5
63 190|169 |121| 33 | 33 | 75 |20|42| M16X1.5 |32 |23 | 8 |45|27 |17 M8 M6 16 16 56.5| 45| 4 |PT3/8|16.5|7.5
80 [214|86 128 33 | 33 | 95 |25|53| M20X1.5 |40 | 26| 10 |45|33|22| M10 M8 17 16 | 72 | 45| 4 |PT3/8|16.5| 9
100 229|191 (138| 37 | 37 [115|25|55| M20X1.5 |40 | 26| 10 |55 |36 22 M10 M8 17 16 89 | b5 | 4 [PT1/2{18.5|9.5
125 279(119|160| 46 | 46 [140|32|74 | M27X2.0 |54 | 41|13.5|/60 |45 |27 M12 M12 20 20 110|160 | 4 |PT1/2]| 23 | 14
160 [332(152[180| 50 | 50 [180[40|94 | M36X2.0 |72 | 55| 18 |65 |58 |36| M16 M16 24 24 | 140| 65| 4 |PT3/4| 25 | 15
200 347(167(180| 50 | 50 |220(40(100] M36X2.0 |72 |55| 18 | 75|67 | 36 M16 M16 24 24 175| 75| 5 |PT3/4| 25 | 15
R SRR %A 2 RTHER,
RSID RSIJ
A+1T1E x 2 A+{TIE x 2+FFRITI2
AB AC+F112 AB+E A5 T DR
oA EEFEEDIR A DA+{T12 EEBEHR DB+{T12+BETI2
FA
S 1@ H B
—— — e DB+
HLS/F 5% A
AB | A DA | DB E FA
WK% | RSID | RS ©
32 190 | 188 | 48 | 94 | 29 | 27 |M10X1.25 6
40 213 | 208 | 54 | 105 | 33 | 28 |M12X1.25 7
50 244 | 231 | 69 | 106 | 42 | 29 | M16X1.5| 8
63 269 | 246 | 69 | 121 | 42 | 29 | M16X1.5| 8
80 300 |282.5| 86 | 128 | 53 |35.5 M20X1.5| 10
100 320 [300.5| 91 | 138 | 55 | 35.5  M20X1.5| 10
125 398 [366.5| 119 | 160 | 74 | 42.5 | M27X2.0 | 13.5
160 484 | 458 | 152 | 180 | 94 | 68 | M36X2.0 | 18
200 514 | 482 | 167 | 180 | 100 | 68 | M36X2.0 | 18
). MNRAE SRR 2 RFAERE,
2. RIEEEZ RTHRSIHEERIEE,
SRE N S\=]
www.rplus .com !ﬁ@!ﬁ%ﬁn};&f‘ﬂm




= 48 REL(BH ) 5415015552 % RSIZR 5| RSIZR 5| #&150155521 ¢ 13 4 58 5L (M 1) IES

¥ PrLus

ft 4 5p 5B R ~1 Bl TC FTC
A+{TIZ
LB CA A+fTIE K C+i8 och
A+T12
C+{712
AdTIZ T
C+T1E l -
ri\
H g2 LI RRIES P &
i W g+ B v
‘ J L
=< DC
‘ ‘ —\ = D7
! ! AD[CT_AG AG .| AD s
o Ry p— AC+TE = / RDD
AA+TEE \
- 7] ©DE s | Al C [ D FlalH J[s [ x][T HEE% | A [ Cc [AA[ B JcaAl D E [ F K
; 32 142 | 94 | 12 | 65 | 50 | 76 | 31 | 47 | 3 | 325 32 142 | 94 | 74 | 50 | 12 |325| 46 | 19 | 10
/] 40 169 | 105 | 16 | 75 | 63 | 95 | 31 | 63 | 35 | 38 40 159 | 105 | 95 | 63 | 16 | 38 | 52 | 21 | 10
50 175 | 106 | 16 | 91 | 756 | 107 | 35 | 656 | 35 | 465 50 176 | 106 | 107 | 75 | 16 | 465 | 64 | 26 | 12
- _ 63 190 | 121 | 20 | 103 | 90 | 130 | 35 | 75 | 4 | 565 63 190 | 121 | 130 | 90 | 20 | 565 | 74 | 28 | 12

FL{//558 A | C | AA| AC | AD | AE | AF | AG | AH | AP | AT RS/ | A © S T | DC DD | DE | DJ | DQ 80 214 | 128 | 20 | 126 | 110 | 150 | 45 | 95 4 72 80 214 | 128 | 150 | 110 | 20 | 72 | 94 | 31 | 16
32 |142]94 (168 |142| 8 | 47 |32 |24 32| 7 |3 32 142 | 94 | 47 |325| 22 |105| 10 | 13 | 258 100 229 | 138 | 25 | 145 | 132 | 182 | 45 | 115 | 4 | 89 100 229 [ 138 | 182 | 132 | 25 | 89 | 114 | 35 | 16
40 | 169106 /179161 9 |53 | 36|28 |36 | 9 | 3 40 159 | 105 | 54 [ 38 | 25 | 12 | 12 | 16 [ 278 125 279 | 160 | 25 | 175 | 160 | 210 | 51 | 140 | 4 | 110 125 279 | 160 | 210 | 160 | 25 | 110 | 139 | 43 | 20
50 | 175]106 190|170 | 10 | 65 | 45 | 32 |46 | 9 | 3 50 175 | 106 | 64 | 465 | 27 | 12 | 12 | 17 |31.7 160 332 | 180 | 32 | 210 | 200 | 264 | 50 | 180 | 4 | 140 160 332 | 180 | 264 | 200 | 32 | 140 | 179 | 56 | 20
gg ;?2 g; 32?3 ;?(5) 152) ;g 2‘33 ‘35 Zg 1;95 i 63 190 | 121 | 75 | 565 | 32 | 15 | 16 | 22 | 39.7 200 347 | 180 | 32 | 255 | 250 | 314 | 50 | 220 | 5 | 175 200 347 | 180 | 314 | 250 | 32 | 175 | 218 | 64 | 20
A B o b I DA Il I A Rl 80 | 214 | 128 | 93 | 72 | 36 155 16 | 22 | 497 DTN ERNE R EERERILBE L, AERITRBE.

: 125 279 | 160 | 134 | 110 | 50 | 25 | 25 | 33 | 69.7
160 | 332|180 340 | 300| 20 | 180|115 60 | 115 |18.5| 8 '
200 | 347 180 380 |320| 30 | 220 135 70 |135| 24 9 160 | 332 | 180 | 180 | 140 | 55 | 30 | 30 |355 |89.7
200 347 | 180 | 220 | 175 | 60 | 30 | 30 | 37 | 89.7
TCM1 TCM2
FA/FB CB A+TE
cc C+i712
A+iT12 ] RCD (Cern2,
ju . | AA.
BB C+12 4-0BR-—B§ ral ITE e -
— ! % — o AHTE
I S CE B jr'TZI + 1
"'"E = e - 3
AvizR ' < T R S
O N e e e AN A R C+171E “(;\l % o |
s N
O | @ el A-oLiEL)
oS L8
- D
””” H%45%% A CAAl B ICA|D|E|F|[G|H|I|J|K|L|IM[N 5% A|AAIBICICAID E| F IG|H|I[K[L M
. AR 32 |142/ 94 (22| 66 | 40| 11| 9 | 60|80 |52 12| 5 | 52|64 | 79| 12 32 |142| 14 | 65|94 12| 5 52| 68 |82 32|46 11| 7 30
4-0BP ) CihE BB 40 |159]105 28 86,5 | 54 | 11| 12| 75 |100| 65 | 16| 8 | 63 | 79 | 98 | 16 40 [159| 17 | 75(105/16| 8 | 63 | 82 | 99 |36 55| 15| 9 |36
L 50 |175]106(28|91.5 54 | 11|12 | 75100/ 75| 16 | 10 | 75 | 91 10| 16 50 175/ 17 | 91106/16] 10 | 75 | 94 111365515 9 |36
& 63 [190(121/30| 115 | 70| 11|12 |85 [110/ 90 | 20 | 16 | 90 |110/133] 20 63 1190/20.5/103121/20| 16 | 90 |113.5/134|42 |65 18|11 40
A k| A | c [cclep|celcylcplcT|PAt[PB1] S | T 80 |214/128/32| 126 | 70 | 11 | 12 | 85 [110/112] 20 | 20 |110/130/153] 20 80 |214]20.5126/128/20| 20 |110(133.5/154| 42 |65 | 18| 11| 40
. N7 32 [142] 94 | 22 1105 10 | 13 | 26 | 45 | 51 | 45.5 |46.532.5 100 |229/138/38/157.5/ 90 | 19| 18 |115|156|135| 25 | 28 |132 157|185 25 100 |229(24.5(145/138|25 | 28 |132/159.5/184| 50 | 75 | 20 | 14 | 50
weE L 20 115917105 25 |12 |12 |16 | 28 | 52 | 59 | 525 | 54 | 38 125 [279]160(40] 175 | 90 | 19| 18 |115|156|170| 25 | 40 |160 185|213 25 125 |279/24.5/175/160 25| 40 | 160187.5212| 50 | 75| 20 | 14 | 50
A 50 117511061 27 T2 12 117 132 160 (67 605 64 (265 160 |332/180/50 215 |110| 24 | 22 |140/190 210| 32 |100200| 232|267 32 160 |332| 30 |210/180/32(100/200| 234 264|60 92| 26|18 60
© 63 Tiool121 32 115 96 (22 (40 T70 |77 705 [ 75 [56.5 200 |347/180|50(262.5/135| 27 | 22 |150|200 255| 32 |125|250/282 317| 32 200 |347| 30 |255/180(32 125|250 284 |314|60 |92 |26 1860
O 80 [214[128] 36 [16.5{ 16 | 22 | 50 | 80 | 87 [90.5] 93 | 72 DR ENER I ERE, DR RENBTITEBRE,
oBA — 100 |229(138] 41 | 20 | 20 | 27 | 60 |110[119]110.5/110| 89
125 |279|160]| 50 | 24 | 25 | 33 | 70 | 130|139 130.5/ 134|110
160 332|180 55 | 30 | 30 |35.5| 90 | 170|181 170.5/ 180 140
T 200 |347/180| 60 | 30 | 30 | 36 | 90 | 170181 |170.5 220 175 _

SIE/#F%% | A | C |BA BB |BC |BD | BE BF | BP T A+FR 5 s%/7%3%%| A [AA| B [ clccleDlcd[D[E[FIGIH] I [K
82 |142] 94 |305| 10 | 47 | 32 | 80 | 64 | 7 |325 ; C+iTiz 32 [14232(26|94 105010 21|18 31| 8 |38 51 6.6] -
40 159 |105]355| 10 | 53 | 36 | 90 | 72 | 9 | 38 40 [159/36|28 105 12|56 | 12| 24|22 |36 10 41 54|6.6] -
50 1756]106]405| 12 | 65 | 456 | 108 90 | 9 |465 50 1754532106/ 12|68 13 33|30 45|12|50 65| 9 | —
63 1190121 2‘5-5 12 | 75 | 50 | 118100 | 9 |56.5 63 1190 50 4012116 |77 |17 3735|560 |12 | 52 67| 9 | —
1%00 5;3 1;2 522 12 19155 3&33 132 lgg 122 ;g 80 |214/63 50128 16|93 | 19 47 406014 6686 11|18

- - 700|229 71|60 (13820 106/ 22| 55|50 | 70 | 15|76 |96 | 11| 18
126 | 279 | 160 |60.5| 20 | 139 | 90 | 218 | 180 | 16.5| 110
125|279/ 90 | 70 |160| 25 |135| 26| 70 | 60 | 90 | 20 | 94 [124] 14 | 20
160 | 332 | 180 |66.5| 20 | 180 | 115 | 280 | 230 | 18.5 | 140
oo iso e 2203 Tao0 5v0 1 54175 160 332111590 180/ 30 |171) 25| 97 | 88 |126| 25 |118]156| 14 | 20
: 200 [347/135 90 180| 30 |185 31 |105| 90 130/ 30 [122/162 18| 26
H)CRATEBER, AERCBREAHER.
R IS o (= T =
%’i#ﬁiﬁ%lﬁﬁ@ www.rplus168.com www.rplus168.com h’:%’f‘ﬁ@"&f‘ﬁ'm




¥ PLus

B A REL

RCY1S& 5

EERE

ST{E(mm) 6 | 10 | 15 | 20 | 25 | 32 | 40
SRR =

=410 1.05MPa

EeEREN 0.7MPa

RIEERED 0.18MPa

RIEMRREAE -10~60°C(E XK H4E)

REEE 50~400mm/s

EE® BB EE B EE

TN ZE(mm) 0~250:3"°  251~1000:5"

BEap:H PN

wFEFS(N) 19.6 | 53.9 | 137 | 231 | 363 | 588 | 922

“NFEEEE, FREFIRIMISOVG32,

AEHMARRKETEAVER, RAEEEARETHELEUMHMBETRT, FUESREY

BEEERE X _EBUR

RCY1S& 5

R RTE X

¥ ooea:

BEBR: RCY1S [25]- [ 1z nmsam. 10, 58, 50, MARER, #EAZER =1
IEFERIZE. RCY1S10-50Z
. Q)P BELE . 40, {7300, EER, HoEMEEE R KERL RS ]D
BRE 0 FLE EREASE. RCY1SG40-300BZ  1AKAT ‘
(BB ) 1TF24 RLYD-81R 2fE #E M FA B
RBMY3-016 2B e M B B = 4 HS
RS HE Y ITIEMEMERRRER
WREE ﬂfﬁiﬁﬁ'ﬁj}; — am waw By WERH_
EDYE Po o HACIR | BT R AR(2{E) (mm) mm) L
==z B | ohEEE = () SHNPN
BS | % mEEmHE(11) 6 50,100, 150,200 300 RCY-1S6-Z-PS
FHEE ﬁ%fg%A 10 |50,100,150,200,250,300 | 500 RCY-1510-Z-PS
¢ B T e e ROV 151525
=)E AR E S O 7R RAR _29 | 400,150,200,250,300, |1000 ALYD- R;:B_ RCY-1520-2-PS
25 388,338,450,500,600, — RCY-1S25-Z-PS
HEBEGZzREEREN 32 ' 1500 RCY-1532-Z-PS
P EEREND S BERBATHAL 100,150,200,250.500,
(mm)| ZAABEEK]) | REEAEN(MPa) | SEEREN(MPa) 40 700:800:900:100&) »|1800 RCY-1840-2-PS
6 1.0
m o 0.55 0.55 ) REMBIRIRM RS T SRIREMBIRIES, RehRs MBI EMEERDCY, BRHEAAT],
15 7.0 b
o 0 it R 4B TS
25 18.5 0.65 0.65 WAESA  |[RCY1ST6 |RCY1ST0 RCY1ST20 |RCY1SO25 RCY1S0140
32 30.0
%0 470 R E RS RUSE | RU0B04 |RJOBOBH RJ1007L |RJ1412L RJ2015L
BHEE
REFEENERES(C6~015) m REFEENEHER(O20~040) M
50 400
-RCY1S40-Z
—RCY1S15-Z
RCY1S32-7
mﬁ 0|RCY1S10-Z mﬁ 100 - RCY1S25-7
i ~RCY1S6-Z W
;ﬁf ﬁ L RCY1S20-7
20
100 200 300 400 100 200 300
EE [mm/s] ®E [mm/s]
m ﬂ»%ﬂﬁ%eﬁc?ﬁal www.rplus .com

F&ERCY1SG i
EFRE oxP(FR& )
(ND)
| Tr
HE . c.mm@szmsm 1
= F GA [
PR A MMIBAREM 2x )
(ivhpE )| —————————— S
reie—
o
P
&
! z o || 3
N ©
. & 4
""" GEY T
- 3 A 3
F 24,5 B B 2 G - 2( 2-";T.}’L3>B
e
£ mERE RO (B2 Ot
LK | 18 ok A 22 FLIRC HP
e (NC).
2xnn {NFL NE) NB) | g
(FAHET 2 12) ‘L—.— | G Baagig
g% = i
L@ @ = B ‘ 2
Soe ==t ‘ 1
@ & FHE g
Y1,
L =t 2 | mimame
2 x it RE EaE
N oy ] | mBREE S
N 1@ e ol ol
=
o —4 .2 2 T H
mRARER - e
HB
E - 2xJJ pHc.
= \ | HG
)\.. =
AT
lf’\}z
oF i —HT
: all A Tal =
" | ) |3
HT,. x 709
o ~H J ]
7 |
)
| 1 d L.
TR e
-
Ko pEERN) | HA
t -l HP-

Bl AlB|c|D|d|E|F GA|GB|GP| H JJ M| MM [NA|NB NN
RCY1SG6-Z 6 |6.5(3.3(76]| 8 2|25 5 513027 M4x0.7 6 M4x0.7 111 14 M4x0.7
RCY1SG10-Z |7.5| 8 [4.4] 12|10 |2.5(315 5 6 | 40| 34 M4x0.7 6 M4x0.7 |10.5[16.5 M4x0.7
RCY1SG15-Z |7.5|9.5|5.4|166]| 12| 2 | 38 5 6 | 52|40 M4x0.7 8 M5x0.8 |10.5[16.5 M4x0.7
RCY1SG20-Z |10 |9.5|5.4(216| 16| 2 | 44 55| 8 | 62| 46 M6x1 10 M6x1 10.5| 22 M6x1
RCY1SG25-Z |10 | 11|6.5(26.4| 16| 2 | 52 55| 8 |70 | 54 M6x1 10 M6x1 12.5| 22 M6x1
RCY1SG32-7 |12.5| 14 [8.6(33.6| 20| 2 | 64 55| 9 | 86|66 M8x1.25 12| M8x1.25 [11.5/23.5 M8x1.25
RCY1SG40-Z |12.5| 14 |8.6(416| 25| 2 |74 55 104| 76 7 | M8x1.25 12| M8x1.25 [10.522.5 M8x1.25

BRigs E i ER e w| MAERER 3

g P |Pa|PB|PW| Q |aW| R |R1| BBz% | S prasmory PO E | BB

(@H: R1x2) NE|NF Bl (Y1x2) [ E%gﬁﬁf@fﬁ;ﬁ EER

: (YIx
RCY1SG6-Z M3x0.5 | 25| 25| 48 | 52| 16 7.5 15 42 | 10 10 | 15 19 62 23 RJ0604N
RCY1SG10-Z | M5x0.8 | 25|38 | 60 | 60| 24 5.5 11 47 12.5| 24 24 72 28 RJO806HN
RCY1SG15-Z | M5x0.8 | 30|50 | 75| 75| 30 55 11 62 11.51 23 23 87 28 RJO806LN
RCY1SG20-Z Rc1/8 | 40| 70| 89|90 | 38 4.5 9 73 17 | 238 32 106 37 RJ1007LN
RCY1SG25-Z Rc1/8 | 40| 70| 98 | 90 | 42 4.5 9 73 17 | 44 32 106 37 RJ1412LN
RCY1SG32-Z Rc1/8 | 40| 75|118|110| 50 55 11 91 17.5| 46 31 128 37 RJ2015HN
RCY1SG40-Z Rc1/4 | 65[105|/141|120| 64 4.5 9 99 16.5| 45 29 140 35 RJ2015LN
FUES R bR =] YN

www.rplus .COM \ RPIus Technology Co.,Ltd




BAERE

RCYILAR %I

HLE(mm) [ 10 [ 15 [ 20 [ 25 [ 32 | 40
AR =
EEAR % (5
EafERAEHMPa 0.7MPa
BKEREHIMPa 0.18MPa
REMRERE -10~+60°C ({EFREL )
SEEREmm/s 50~500mm/s
BE W ih AR B AR & R R R E RS ((T3E)
FRAZEMM 0~250:4"°, 251~1000:3"*,1001~.3"®
4 THEE
& N0ERe M5x 0.8 \ 1/8 \ 1/4
RELSH BRI
T Eh, FEAEFASRIMISOVGE32,
BRRRFE
RCY 1 L [25] H|[300] ]RA?ZH_—FI
w1 B A I
38 ) e E—
et S e mr B e
S
BR RS WA R PERABNM T R " | om
T Wik |ERERIR I
H | B1R#
nIBREN “REVEBRBAEL SR
L | EREEN s 2 BT BRI R
ERYE | WEEELTE
B | wREEERE
BS | WREEERIE
RABHETE {782/ B P RIS R
FRES B 3 4= 7o ER17E kM R A L 5
(mm) R (mm) (mm) (ERE)
50
6 50,100,150,200 300
30 10 50,100,150,200,250,300 500
20 50,100,150,200,250,
o (o, 15 300,350,400,450,500 750
& (135) Sol o 20 100,150.200.250, 1000 EQ%EH),RAWH),
k10 3 = 25 300,350,400,450, RA76H
o 1 RN e 500,600,700,800 1500
éu >4
3 oo 100,150,200,250,
> 40 300,350,400,450,500, 1500
3 - 600,700,800,900,1000
al
D
e e TR T R,
ACYi[6 HEMEBABRIRAE RS T S BRI R,
|
0 500 (650) 1000 1500
FAHL TR (mm)
£ Pt
ﬂB%’ﬂﬂ?ﬁ?Ef@ www.rplus .com

RCYILAR %I

S HRSTE BX

A=

RCY1L6,10
_(NA) H
HA T (N) AT 22 w1 B B HP_ | 2-m5x0.8
e e _— J-|_G. 2-J
IRW ==
&/
NN i@a{/
aw
. “I{ GA |PW
® S
RW
4—®LDW ﬁ\*’
HB Tg 4-$BRFL
AT © cE HS
FA
FBL
IR AR E AR
el _ [~ RB0805 ta EA
18 A .
l'ﬂ o le—
N IF&R(RCY1L6)

Filk>i 4 FTREHE A B D EA | EB | FA | FB G GP H HA HB HG HI HO | HP HS HT
RCY1L6 ~300 7 6.5 7.6 - - - - 6 36 | 27 6 10 11 9 25 26 14 16
RCY1L10 ~500 8.5 8 4 12 10 6 12 3 5 7.5 1| 50 | 34 6 17.5 | 145 | 13,56 | 33 33 | 215 | 18
HgE J JK| L |LD|M MM N | (NA) | (NB) NN *PAIPB|PW | Q | QW | RW T ta | tb | W Z
RCY1L6 | M4x0.7 | 65| 40| 3.5| 6 | M4x0.7 | 11 30 24 | M8x1.0| 24 | 40| 60 | 54| 20 12 10 16 - - | 56| 68
RCY1L10| M5x0.8 | 9.5 |68 | 4.3 | 8 | M4x0.7 |[10.5| 27 19 M8x1.0| 30 |60 | 80 |85| 26 | 17.5|1125]20.5|0.5|1.0| 77 | 103
RCY1L15,20,25,32,40 (NB) 25 (NA) H

AT 22 3 ik 14 B R HP 2-P
HG |/f4-J
HA HO -
e HI \4 ‘7@
[ 5 £~
>
SO
t [
aw GP |Pw
w HT|
Hi
@ % LDT ‘5630
r“ﬁ" HS
HBIHA| [ ((11) ITW—‘
— i o
EB
TE’II"—T EA
o]

H5E TESEE| A B|C D d |[EA|EB|FA|FB| G |GP|H|HA| HB | HG | HI |HO|HP| HS [HT J JK| L |LD
RCY1L15 ~750 75195 5 |166|12| 6 |13| 3 | 6 | 6.5 | 65 |40|6.5| 4 16 14 | 38 (39| 25 | 16| M6x1.0 |9.5| 75 | 5.6
RCY1L20| ~1500 | 9.5 |9.5|5.2|216|16| - | - | - | - | 85| 80 |46]| 9 10 18 16 | 44 | 45| 31 | 20| M6x1.0 | 10| 86 | 5.6
RCY1L25| ~1500 95]111|16.5(26.4|16 14| 4 | 7 | 85|90 |54| 9 18 23 21 52| 53| 39 | 20| M8x1.25| 10 | 86 7
RCY1L32| ~1500 |10.5| 14 33.6 |20 16| 5| 7 195 |110(66| 12 26.5(26.5(24.5| 64 | 64 |47.5| 25| M10x1.5| 15 |100|9.2
RCY1L40| ~1500 |[11.5| 14 41.6|125[10|20| 5 |10|10.5|130|78| 12| 35 |30.5|28.5| 76 |74| 56 |30 |M10x1.5| 15|136|9.2

Elgk M MM (N) | (NA) | (NB) NN P *PA| PB | PW | Q |QW |RW T ta | tb | TT W Z | MR ERS
RCY1L15| 8 | M5x0.8 | 8.5 27 17 M8x1.0 | M5x0.8 | 45 | 70 | 95 | 90 | 30 | 15 |125/0.5]1.0|22.5| 92 | 112 RB0805
RCY1L20| 10| M6x1.0 | 10.5| 29 20 | M10x1.0| Rc1/8 | 50 | 90 | 120| 105 | 40 | 28 | 16.5| - - 255|117 | 130 RB1006
RCY1L25| 10| M6x1.0 | 12.5| 49 40 | M14x1.5| Rc1/8 | 60 | 100| 130| 105| 50 | 22 | 16.5|0.5|1.0|25.5| 127 | 130 RB1411
RCY1L32| 12| M8x1.25 | 13.5| 52 42 | M20x1.5| Rc1/8 | 70 | 120|160 | 121 | 60 | 33 | 18.5]0.5|1.0|28.5| 157 | 149 RB2015
RCY1L40| 12| M8x1.25 | 12.5| 51 36 | M20x1.5| Rc1/4 | 90 | 140| 190|159 | 84 | 35 | 20.5[1.0|1.0[35.5| 187 | 194 RB2015
*REFPARS HRC B R ST LA B [E)

o {== Y NS
www.rplus !ﬁf ESL}?%E]EFEUL‘LEI m




&
¥ PLus ELE T RCY1SE 5 RCY1SE 5 42 4 AL Y ozos Y

HIfE(mm) 6 [ 10 ] 15 ] 20 ] 25 [ 32 ] 40 | 50 | 63 RCCIY1S6 - 10
feAn Exd & T8 ) @n

- e
) BIEAR 16 = h P ! ; v

-
= e BEHEAEN 0.7MPa BRRE \H 4-JxK
_ - : i i HEAXRE
‘ Ak B A% AE FAE ) 0.18MPa 2 /ﬁi‘—m— ||
_ BRARMEE -10~60°C(E K HL) ai & e /
e e EEEE 50~400mm/s 1 @@] @ 7))
i e — i RSB E 5 T 1PB e aw = %. GPL lpw
- o = p— FEN) 14 18 —~ @9-. Vi )
= \ TRRZEmMm 0~250:0 , 251~1000: ¢ ~, 1001: o e i ® N4 it N
ey, ‘ - * N == ‘@
Ny o~ 8 R A Eaplii] AHRE A F } \ -
b=l Fapa—— \NZA\V | [ | [
BEOR M5X0.8 RC1/8 RC1/4 — - N L | 14
17
RHREYH 45 BR 51 El NN _.(jh_ L - 4-¢ BT Hs)|
IR IR AR 1 28 (R FRJB REIRCYIS) ﬁg%ﬁggfﬂm Q478 CRE HA

INFHERE, & AEF19RIHISOVGE32.

) = . =1 312 Ao
BISRFIRT A I8 2 F 53t 5 7i2g@E | D | d | A B |C|HT| G |GP | H | HA | HG | HP | HS | T JXK L | LD |M
RCY1S6
RCIDIY1 300]| HRA72] RCDYis6| ~300 | 76| 8 | 6 |65 |33(155( 5 | 30 (27 | 205 | 8 | 26 | 8 | 10 | MAXO.7X6.5 | 40 | 3.5 | 6
RCY1S10
BEYE BB AR [] RCDY1S10| ~500 | 12 [ 10| 75| 8 |4.4| 17 | 65| 40 | 34 | 25 |13.5| 33 | 14 | 12.5 | M5X0.8X9.5 | 45 | 4.6 | 6
; EER | o
B 25 81 2 . o
FEEAES I s KE D e N B BIB 75 T %2 5 AR
5 . Eﬁgmm ® 1 B S — : : B MM NN | (N) P PA|PB|PW|QwW | Q| S| TT | Z Rt A s BLR L s A
"BEAREDR = ~omm R mY% |E RCY1S6
? 70 @ 1omm MERBANEE T %‘wﬁ@;@ﬁma RCDY 156 | M4X0.7 | MaX0.7 | 11 | M3X05 | 25 | 25 | 48 | 16 |52 | 42| 14 |66 | 46
FARR 2| o omm H| &R0 = S RERMENHRRE.
BEAE S ofmm Lt BRES RWRWRRUA. RCY1S10 | \4x0.7 | M4x0.7 [10.5| M5x0.8 | 25 | 38 | 60 | 24 | 60| 47 | 16.5 | 76 | 58
—tERw 25| ©25mm IS 06, © 108 RCDY1S10
S (’l%%mﬁ) 32 [ ®32mm e
>l 321 o%mm_ I - . RCLIY1S15 - 20 - 25 - 22 - 40 en
S0] ®50mm B PERBIE 1T BREARRER (N), z48 N \n
63 | ©63mm TT SHTR T \HP 4-JXK
HREA BB ey = e
3508065 - am o BRGEMM) | gyt papgmse fl— PA,  sOmMM 2N ] * PRI
EAURE BS | ®REGEHIE (mm) (mm) EAD| BRE | BERE, REARD 1’7 W REM / i [
. . . =" T 17
63 BARRREL R 6 50,100,150,200 300 | 300 _‘_ —?——é T = £
10 | 50,100,150,200,250,300 | 500 | 500 _@y— 5) L YA
50,100, 150,200,250,300, _ 750 RA72(H) — B a - i ‘
EHEéAﬁtH ﬂ&ﬁiﬂﬁﬁﬁﬁ 15 350,400,450.500 RA73(H) ] o5 g ] Gl |pw
H il 20 | 100,150,200,250,300 ~ | 1000 RA73C I L Wi oo A f':
©6,010 ©50,063 —25_1850.400,450, 500,600,700 RA76H ©&r— N4
32 1500 @@ é & 7an\YPNY
10 - 5 100, 150,200,250,300 - : ] S — SZANd
Hiz 150,200,250, 7’~ :
% 2500 40 [350,400,450,500,600,700 1500 - - E@' B L~ | =14
- olio @ 800,900,000 ERREFTEE A L HAERIR 4-0BRA
70 ; 2000 — . SR EL TR AR 3 He
0 = HE J o]} TR R, HRALHTRE Q7R CRE o
= T = L)
Z 50 Z 1500
E . de Ewoo B |5E®@| D |d| A [ B | C|HT| G | GP | H|HA|HG|HP| HS | T IXK L|LD| M
g 7= . =
® . 1 A BAB#HRTERCY1S)
o L 500 e X _ RCOIY1S15 | ~750 | 16.6 | 12| 7.56 | 9.5 | 5.4 |20.5| 6.5 | 52 | 40| 28 | 15 | 39 | 15 | 12.5 |M6X1.0X9.5 | 60 | 5.8 | 8
= HRSEBRNPOER—B L B RTRAMG s
U Y L Y WTE RCLIY1S20 | ~1500 | 21.6 | 16 | 10 | 95|54 | 20 | 85 | 62 | 46| 36 | 19 | 45 | 19 | 16.5 |[M6X1.0X9.5 | 70 | 5.8 | 10
FEARILERTRERSTBRNEOEL MRATE
® 15,020,025 HEE BB B B RCOIY1S25 | ~1500 | 26.4 | 16 | 10 | 11 | 65| 21 [ 85 | 70 | 54 |40.5|21.5| 53 | 21.5 | 16.5 | M8X1.25X1.0| 70 | 7 | 10
32,040 .
p 2 2 ch [ 42 || B
o o (ﬁﬁ) w3k ﬁﬁﬁ) ﬁ}é%gﬁ EE?EE;EE soFersio RCLIY1S32 | ~1500 | 33.6 | 20 | 12.5 | 14 | 8.6 | 24 | 95 | 86 | 66 | 50 | 26 | 64 | 26 | 18.5 |M10X1.5X15 | 85| 9 | 12
1100 @ (MPa) (MPa)
1) 40
1000 e ©6 | RCYI6H | 196 0.7 0.55 30 RCLIY1S40 | ~1500 | 41.6 | 25 | 125 | 14 | 8.6 | 27 | 10.5 | 104 | 76 |55.5| 27 | 74 | 27 | 20.5 |M10X1.5X15 | 95 | 9 | 12
900
w00 FAircd ©10 | RCY1J10H| 53.9 0.7 055 20 - ‘ ]
70 i J ©15 | RCY1O15H| 137.3 | 0.79 0.65 Srop Eilk MM NN (N) P *PA| PB | PW |QW | Q | S | TT z W EDEAERRR TR AR
£ CRE ©20 | RCY1020H| 231 076 0.65 B (OS0 RAPAR G RR LA LR
R 025 [ Rovioasn | aeos | o8 068 iy RCOIY1S15 | M5X0.8 | M4x0.7 | 10.5 | M5X0.8 | 30 | 50 | 75 | 30 | 75 | 62| 175 | 92 | 73
v 300 @20 : - - ™3 RCY1S10
o Ean 032 | ROYILIS2H| 568.4 | 0.74 0.65 Rorisy RCOIY1S20 | M6X1.0 | Méxi | 10.5 | RC1/8 | 40 | 70 | 89 | 38 | 90 | 73 | 21.5 | 111 | 87
100 LT ®40 | RCY1O40H| 921.8 0.76 0.65 2 —I
G 01 02 0304 05 05 0708 08 10 ©50 | RCYTLISOH | 1471 0.76 0.65 L T T RCLIY1S25 | M6X1.0 M6X 1 125 | RC1/8 | 40 | 70 | 98 | 42 | 90 | 73 | 215 | 111 | 96
1 BB f1(MPa) ®63 | RCY1[63H | 2255.5 0.74 0.65 S AI#572()X100mm
RCOIY1S32 | M8X1.25 | M8X1.25 | 11.5 | RC1/8 | 40 | 75 | 118 | 50 | 110 | 91 | 24.5 | 134 | 116
RCOY1S40 | M8X1.25 | M8X1.25 | 10.5 | RC1/8 | 65 | 105 | 141 | 64 | 120 | 99 | 26.5 | 146 | 139

017 ATk B N wnrptus 166 com MERIZENZS EH

R Plus Technology Co.,Ltd.




¥ Prus

RCY3B/RCY3RZR %I

RCY3B/RCY3RZ 3|

&
R HIET

5 3 y -
£ ATRCYIBRT) R 1 EXERCY3B15~40 " Lo 4-Mm
o -0 AR 2-P(EEEO) G
HI1E (mm) 15 [ 20 [ 25 | 32 [ 40 SLi _LE [~
AR ST HH) — ~
=) 3 0.7 b { “4* %
S EARCY 2R S = AR IMPa / . ;
: & 1E4E B iMPa o6 [ o015 [ o014 | o012 (1 / ¥ . B
— BEAREEE ~10~+60°CUB K A £) 5 4D
. == R B~ . - v
‘. 6 /ﬁg_ﬁrgmm/s RCY3B:50 flmOO,Fj?TSRSO 500 L
RERIACY IBRF AR 4 L R J S~
ST BRLLRCY BRI R70%, MENAE A NIRA. ps—— 250,770 ~1000.7 74 SR R | _RERE N
SERTRBIORER, AN, AR AtEs, L AZmm 0~250:, ~, 251~1000:, 1001 N ) w - .
RS, B0 iE BN R IE30%. BRI N 137 | 231 | 363 588 922 T
R EE R~ HRCY1B/REFIME ESE O M5x0.8 ‘ RC1/8 - NPT1/8 - G1/8 ZZ+478
REBH/EREP(20E).
d
BB ERH & o M ‘-l
LR G_|E kj ~
—
[(BARR] RCY3B 300 b T
NN
* H
[E#%%A] RCY3R 20 — |RLYD-81| A\ ) *1 B
R BB B K ") i)
” ! RS SHE | BAFEE(mm) d H| B ®
EERA e misk | oM ) FLN RSN-016B 15 M10x1.0| 4 | 14 [16.2
BRA[FUEE = REMPIME — x1. ,
KFEE  15[15mm OB RUEL 4, BR | RETLRM s E RSN-020B 20 M20x1.5| 8 | 26 | 30
20120mm IR || mrer|AppmEe *Wr[ﬁﬁ,.ﬁ]@gg__,ﬁé&ﬁT% n nfd RCY3B15 RSN-032B 25,32 M26x1.5| 8 | 32 | 37
Soloomm  mw [h 1ol N _IAEBNSE g T RSN-0408B 40 M32x2.0] 10| 41 |47.3
"N ETETEE LER 1772 /6l 4 5 B 81 5% R mm)
D32
TF G | 040 o AT 2
AT @it iie ‘K’;;ﬁj;ﬁﬁ%:fﬁaﬁﬁ BB R A5 il B D E F G H J K L MM N | NA NN R S W X | 2z
T R R0 BT 1000 | 750 | o RCY3B15 | 35 |166| 3 | 10 |55 | 13| - | 6 | 11 | 57 | Max07 | 11| 17 | Miox1 | - | 83 | 35 | 19 | 103
20 | 100,150 200.250.300.350.400 450,500 | 1500|1000 - RCY3B20 | 36 |216| 2 | 13| 75| 20| 12| 6 | 8 | 66 | Max07 | 18 | 24 | M20x1.5| 28 | 106 | 50 | 25 | 132
%eooqoo,a@o 1200 | RZ93, RZ76, RCY3B25 | 46 |26.4| 2 | 13 | 75 [205| 15 | 8 | 10 | 70 | M5x0.8 [18.5| 30 |M26x1.5| 34 | 111 | 50 | 30 | 137
100,150.200.250.300350.400.450500, | " 700 | RY5A AVS9B RCY3B32 | 60 [336] 2 [ 16| 8 [ 22| 18| 8 | 15| 80 | Méx1 | 20| 36 [M26x1.5] 40 | 124 | 50 | 40 | 156
40 | 600.700.800.900.1000 RCY3B40 70 |416] 3 | 16 | 11 | 29 | 23 | 10 | 16 | 92 M6 x 1 26 | 46 | M32x2 | 50 | 150 | 60 | 40 | 182
«EHRCY3BH |, HRCYIREZ H 175
RCY3B50 - 63
NA H L
S, 2-P G
SMERTE ZX
ok T |
EEm 1N 2] el ) g
RCY3B6 - 10 0 \ |/ w = X D w
NN H L o1 4-MM 2-p G O~14¢ = <
B NRES T 1IX= | %
G | Ml TB| 4-TC
O N d BHEHRER || I
wf] o
o——+ — \ 6. NB K w 4-MM ——»]
B e - guARRE N
X oD ] 0 BABERRER F S+FR2 F
&— v & ZZ+TR
s
Eilli THE%E | #t&|OP |OB |OC | oD | ®E(h8) | F | G H | K L MMXJ N | NA [ NB | NN
N || K w N
F S+7H F RCY3B50 | ~2000 | Rci/4 | 86 | 32 | 53 | 38050 | 2 | 14 | 33 | 58.2 | 25 | 110 | M8x1.25x12 | 25 | 55 | 23 | -
ZZ+1788 o
RCY3B63 | ~2000 | Rci/4 |100| 38 | 66 | 38250 | 2 | 14 | 383 | 72.2 | 26 | 122 | M8x1.25x12 | 25 | 69 | 23 | -
EIgE QXR s | 1B TCXR w | x | zz RERE 307
Ry | FR%EE | #EO0P (oD | OB | F |G| H | K| L [N |NA MMXJ NN s |w | x |zz
RCY3B50 | M8x1.25x16 | 176 | 14 | M12x1.25x7.5 | 60 | 60 | 180 ™
RCY3B6 | ~300 | M3x08 | 7.6 | 17 | 8 | 5 | 135 | 5 | 35 | 95| 10 | M3x0.5x4.5 | M6x1.0 | 62 | 25 | 10 | 78
RCY3B63 | M10x1.5x16 | 188 | 14 | M14x15x11.5 | 70 | 70 | 192
RCY3B10 | ~500 | M5x08 | 12 | 25 | 9 | 5 | 125 | 4 | 38 | 11 | 14 | M3x0.5x4.5 | M10x1.0 | 63 | 30 | 16 | 81 e
A5k B &S d H| B ©
RSNJ-016B | 10,015 | M10x1.0 | 4 | 14 | 16.2 -
A RREH B2ME H
miﬂﬂkﬁﬂiﬁ‘fﬂu ol www.rplus168.com www.rplus ?ﬂiﬁﬁ?”ém‘m




w PLUS 42 A RCY3B/RCY3RZ 5 RCY3B/RCY3RZ 5 2 A CwEni Y

SMEER~TE A MEIEZE 015~ 040
1) ABRTRMEH (EER) \
ggi" HTHB '$ N4 ) /
RCY3R6 - 10 - 50 - 63 HC
| X
P A
v © © I
A w K
w K 2-ig% / e w L]
H
3 H)RTHBRE L8 FEARERE ., ce HA " mrEE s
= - i A-MALEEGB
wil | el @ © =7 RFHTR RIS F FRIEERE . He PPERAD L X v T
IR X 4-JXE L%, MFLRC
M ¢ B
28K ! ! NT wp S H @ & T
— Al { - = = X oD/ -
< gﬂw% - —1 Q PW
3| @ | ' &
& -
(7]
N ‘ 7‘ w K | 2x4-4M
- HS B2 ZE | SRARM Sl ED
8-MMERAL R M 4-OBRAL CR HR G Q+7#8 G
H e — - - f*
2-P . CRE Z+4782
4-JXE T Y
T\ S8yl HA Sl RCY3R15,20 RCY3R25,32,40
HP L
| | Fl | A5 A |B|C|CB|CR| D | F |G|GP|GW| H |HA|HB |HC | HP | HR | HS | HT JXE K
] % g TC é§ RCY3R15|105| 8 | 42| 2 | 05 |166| 8 | 5 | 383 |315| 32 | 30 | 17 | 31 | 17 | 30 | 85| 17 | M5x0.8x7 | 14
wp 4 QWI o RCY3R20| 9 | 95|52 | 3 1 |216| 9 | 6 | 39 |375| 39 |36 | 21| 38 | 24 | 36 | 75| 24 MEx1x8 | 11
G "
3 & - X ©D @ RCY3R25| 85 | 95| 52| 3 1 | 264| 85| 6 | 44 |425| 44 | 41 |23.5| 43 |235| 41 | 65 [23.5| M6x1x8 |15
< © © RCY3R32|10.5| 11 | 65| 3 | 1.5 |336|105| 7 | 55 |535| 55 | 52 | 29 | 54 | 29 | 51 | 7 | 29 | M8x1.25x10 | 13
A RCY3R40| 10 | 11| 65| 5 2 |416| 13 | 7 | 65 |635| 67 | 62 | 36 | 66 | 36 | 62 | 8 | 36 | M8x1.25x10 | 15
w% w K, O\ meiEpapIg
= g Rigk L LD M MM N PW Q Qw T TC w WP X Y z
Q+7E e RCY3R15 | 53 4.3 5 M4x0.7 6 32 84 18 19 17 25 16 18 | 545 | 94
CcR AN i RCY3R20 | 62 5.4 5 M4x0.7 7 38 95 17 | 205 | 20 40 19 22 64 | 107
RCY3R25 | 70 5.4 6 M5 x 0.8 6.5 43 | 105 | 20 | 215 | 225 | 40 | 215 | 28 72 | 117
RCY3R32 | 76 7 7 M6 x 1 8.5 54 | 116 | 26 24 28 50 27 35 79 | 130
RCY3R40 | 90 7 8 M6 x 1 11 64 134 | 34 26 33 60 32 40 93 | 148
BEFRERO15~040 ;
cB HA o
= 4-JXE 7 HT 2-P LI Y tmil.E&w T
22 s EEBED) [ LC, MILEC
8 2-P [
B | e 77@3%1‘513) I TG
! - Al H @ @ FI @
g | o o we| g { @
EMAE g2 T diad £ | o i
-
(RCY3R50,63) I @ ® @ °F
< H
= Pt H| J
Bl 772 | A| B | C |CB|CR|[ D | F | G |GP| GW | H |HA|HC|HP|HR|HS|HT JXE K RCY3R\_—G15 ] 7 2x4-aM
HS w K = N
RCY3R6 | ~300 | 7 2 |05 |76|55| 3 |20 [185]19| 17 | 18 [10.5] 17 | 6 [10.5] M4x0.7x6 | 7 R R AE . Qﬂ;m LLE LS o
LN | PR L0 B ] +iT
RCY3R10| ~500 | 9 | 6.5 [ 32| 2 | 05 | 12 |65 | 4 | 27 | 255 (26| 24 | 25 | 14 | 24 | 5 | 14 | M4x07x6 | 9 P -
RCY3R50| ~2000 | 14 | 14 | 82 | 5 2 | 53| 17 | 85| 83 |81.5|85|80 | 84| 45 |80 | 9 | 45 | M10x1.5x15 | 25 RCY3RG25,32,40
RCY3R63| ~2000 | 15 | 14 | 82| 5 | 3 |66 | 18 | 85| 95 | 935|97 | 92 | 96 | 51 | 90 | 9.5 | 51 | M10x1.5x15 | 24 (mm)
B HP | HT | Qw
- RCY3RG20 RCY3RG15| - - | 18
A3k ox s L | LD | M MM N P PW | Q |[QwW | T | W [wS| X | Y | Z | HB | TC [ wP

RCY3RG20| 11 28 17
RCY3RG25| 14.5 | 33.5| 20
RCY3RG32| 20 41 26
RCY3RG40| 25 50 34
HRARFER T M AEERAAR.

RCY3R6 ~300 34 3.5 | 3.5 M3x0.5 3.5 | M3x0.8 19 60 10 |14.5] 20 6 10 |35.5] 66 | 10.5|10.5| 9.5
RCY3R10 | ~500 38 3.5 4 M3x0.5 46 | M5x0.8 26 68 14 |17.5| 20 8 15 |39.5] 76 14 14 | 13
RCY3R50 | ~2000 | 110 | 8.6 10 M8x 1.25 15 Rc1/4 82 | 159 48 30 | 60 10 | 50 | 113 | 176 | 45 | 42 | 41
RCY3R63 | ~2000 | 118 | 8.6 10 M8x 1.25 16 Rec1/4 94 | 171 60 32 | 70 10 | 60 | 121 | 188 | 51 48 | 47

m’ﬂﬂﬁmﬂ?iﬁﬂﬁﬂﬁl om EWEEHEZ‘EI‘@

R PIis Technology Co.Ltd. / WWW.rplus .com www.rplus .Cl R Plus Technology Co.,Ltd




¥ PLus

EhEER
RCY3RG50 - 63

RCY3B/RCY3RZR %I

RMGPZR %l

= B SR EL

B oz

T4 (mm) 12 16 [ 20 25 [ 32 [ 40 [ 50 [ 63 | 80 | 100
}ETR ®EA
w K AR =5
EEERAEH (MPa) 1.0MPa
e & _//' BEERES (MPa) 0.12MPa 0.1MPa
HC AN X | BEAREEE ~10~60C ( KEL )
| @ ﬁ . f ] &
NT TEEEE 50~500mm/s 50~400mm/s
LPES TR ENER R/ M TR IR R/ S R AR TR BREh K
. BB R +0.07° +0.06° +£0.05° +£0.04° +£0.03°
H MELEN -
10 s AR R K +0.05° +0.04° +0.03° +0.03° +0.03°
CB HA
e 2p A R R £0.01°
4-JXE p— 1.5
&) 1l #Re _ - jR, TS, R B TR, AREEAE "o mm
v - T A-9BAL CWHEEARENE. O BRERRR M RRER P pr—p——
T 8-MMERAL R FEM CRE - THAEAL 138 D RERE, e sl
RPSUET Tt - CEBEARTERE, p
r_n_, TRREES AR AR BEOE M5x0.8 \ 1/8 \ 1/4 ‘ 3/8
we Fl ST 44 3,55 35 oM 1 SRmISOVG 32,
Il i TC
Jza @§
N 1
X Qw| Pw
@) 0 4@} 1] 5 = Y. =T 4 = A ]
& @ BRRRAHE HE=g::3!]) B 7 FF 5%
L3
DR EE: 16,177 50, BE#K
K|\ ; RMGP - z ) -
w 14 B9 B A8, w ERERIYE. RMGPM6-50Z ﬁ
CR HR - - p /=10 > 5
" Q+f1# LG B B FEHR 0 o &% 2T RELE . 25, 72 300, AFMEIREBREAR, FHECHLMER M [ I
paver VR E RS ERERISE. RMGPL25-300Z 1{EISAT
L | z8 i BRa R Bl Py RLYD-81 21 # v B Bl
2185 A | BRESERREED
p—— _
EREHEHEN I BRI R
HE | g mE
| — i
(mm) " 41 s 35 DA
RCY3RG10 g g 12 |RMGP12-Z-PS| (mm) RETE(mMm) )L B R kg Rakili
16 | RMGP16-7-PS| _AZE#EH 248 248 | 3#NPN
20 |RMGP20_Z_pS| /mEREH 12 110,20,30,40,50,75,100, RMGP12-Z-PS
— 55 TRMGP25_7z_ps| ZHMHA 16 |125,150,175,200,250 RMGP16-Z-PS
- 32_[nuarap-z-ps| FHTP 20 12080405075100125180 oy 1y g4 | i yp-g1D | ALYD-81N rHareD-2-re
P o5 | 175,200,250,300,350,400 a - - j
= = o N '
(mm) ] o 38.29. |25,50,75,100,125,150,175, RMGP80-Z-PS
40 RMGP40-Z-PS N 8OYY1O(Y] 200,250,300,350,400 RMGP100-Z-PS
50 |RMGP50-z-pS| _AE#EH "BHEAEEEHE LT
63 | RMGP63-Z-PS 'ﬁfgﬁff
80 | RMGP80-Z-PS gﬂgﬂ%
100 |RMGP100-Z-PS
- BARHE T(N.
RS 718 B C |CB|CR|D| F G |GP| GW | H | HA | HC | HP | HR | HS | HT JXE Ei;;* L (N.m)
RCY3RG10 ~500 6.5 | 3.2 2 05 | 12 | 6.5 4 27 | 25,5 | 26 24 25 - 24 5 - M4 x0.7x6 9 (mn?) BAREAR 10 20 25 30 40 50 75 100 | 125 [ 150 | 175 | 200 [ 250 | 300 | 350 | 400
RMGPM 0.39 0.32 - 0.27 0.24 0.21 0.43 0.36 0.31 0.27 0.24 0.22 0.19 - - -
RCY3RG50 | ~2000 | 14 | 82 | 5 2 | 53| 17 | 85|83 |815| 85 | 80 | 84 | 32 | 80 | 9 | 56 | M10x1.5x15 | 25 12 Imverh Toer Toas T —To55 o058 Toso To5 1055 055 1020 T o8 Toas o T — - -
RCY3RG63 | ~2000 14 8.2 5 3 66 18 85 | 95 | 985 | 97 92 96 35 90 9.5 | 635| M10x1.5x15 24 RMGPM | 0.69 | 0.58 - 0.49 | 043 [ 038 [ 069 | 0.58 | 0.50 | 0.44 | 0.40 [ 0.36 | 0.30 - - -
16 RMGPL/A 0.99 0.74 — 0.59 0.99 0.86 0.65 0.52 0.43 0.37 0.32 | 0.28 0.23 — = =
RMGPM = 1.05 = 0.93 0.83 0.74 1.88 1.63 1.44 1.28 1.16 1.06 0.90 0.78 0.69 0.62
E%E:T(N-m) 20 RMGPL/A - 1.26 - 1.03 217 1.94 1.52 1.25 1.34 1.17 1.03 | 0.93 0.76 0.65 0.56 | 0.49
> RMGPM = 1.76 - 1.55 1.38 1.25 2.96 2.57 2.26 2.02 1.83 1.67 1.42 1.24 1.09 0.98
e P 5 RMGPL/A - 2.11 = 1.75 3.37 3.02 2.38 1.97 2.05 1.78 1.58 1.41 1.16 0.98 0.85 | 0.74
ﬁ:ﬁ ﬁ& L LD M MM N P PW Q Qw T w WS X Y Z HB TC | WP | oM _ 30 RMGPM - - 6.35 - - 5.13 5.69 4.97 4.42 3.98 3.61 3.31 2.84 2.48 2.20 1.98
RCY3RG10| ~500 38 | 35| 4| M3x05 | 45 | M5x0.8 | 26 | 68 | 14 |17.5| 20 | 8 | 15 [39.5| 76 | 14 | 14 | 13 ﬁP‘ RMGPL/A | - - |59 | - - | 489 | 511 | 451 ]634 [579 | 533 [4.93 |429 |378 | 338 |3.04
RMGPM - - 7.00 - - 5.66 6.27 5.48 4.87 4.38 3.98 3.65 3.13 2.74 2.43 2.19
RCY3RG50 ~2000 110 8.6 | 10 | M8x1.25 15 Rc1/4 82 | 159 | 48 30 60 10 50 | 113 | 176 | 45 | 42 | 41 40 RMGPL/A Z Z 6.55 - = 539 | 562 | 496 | 6.98 | 6.38 | 5.87 | 5.43 | 4.72 | 4.16 | 3.71 | 3.35
RCY3RG63| ~2000 | 118 | 8.6 | 10 | M8x1.25 | 16 | Rcl/4 | 94 |171| 60 | 32 | 70 | 10 | 60 | 121|188 | 51 | 48 | 47 50 |AMaPM | - | - 11801 - | - | 108 120 | 106 | 9.50 |6.60 | 7.86 | 7.24 | 6.24 |5.49 | 4.90 | 4.43
RMGPL/A = = 9.17 - = 7.62 9.83 8.74 11.6 10.7 9.83 | 9.12 7.95 7.02 6.26 | 5.63
RMGPM - - 14.7 - - 12.1 13.5 11.9 10.7 9.69 8.86 8.16 7.04 6.19 5.52 4.99
63 RMGPL/A - - 10.2 = = 8.48 11.0 9.74 13.0 11.9 11.0 10.2 8.84 7.80 6.94 6.24
RMGPM - - 21.9 - = 18.6 22.9 20.5 18.6 17.0 15.6 14.5 12.6 11.2 10.0 9.11
80 RMGPL/A - - 15.1 = = 23.3 22.7 20.6 18.9 17.3 16.0 14.8 12.9 11.8 10.0 8.94
100 RMGPM - - 38.8 - - 33.5 37.5 33.8 30.9 28.4 26.2 24.4 21.4 19.1 17.2 15.7
RMGPL/A = = 271 - = 30.6 37.9 34.6 31.8 29.3 27.2 | 25.3 221 19.5 17.3 15.5
T XN JI\= o {2 T TN=
%’E!ﬂiﬁ%‘f’?f‘ﬂ www.rplus168.com www.rplus168.com L’EH{%EEFEUL‘EI‘E]



¥ PLus

I RSTE BXR

= 3 5@ L

RMGP A %l

RMGPZR %l

= B SR EL

B mens

d12-925
XXEB R ~F TRIERTE
z WA
WB O XA H9 X6
R - ©
)
c |d
il € }S D . e
=) o i
= Sle (mm)
F - H E
{é IO X8 a b| c | d e
y A
7—7 4474037 ] 2 |6.2
VA A
LI / — 4.4 |7.4|3.7 |25 |6.7
XXED 54844528 |78
pRv— 54 (84|45| 3 |82
4xNNi#E 7L 4 x MMZEML
XXEB z 4x OOAIETL XXEB
_x 4x ©OBAROL
l —_E
A Y #
{ 7 ~ o
Ao s 10
£
He| o Jeid 3 | o %‘; o <||H
b P/ ° > j"{ > =
< 5/ o 3
! SN
1f® g K +
[ TEIE
DXAH7R6 S . 2xP =
PA S
TR K.\ oxaHome
FA -
FB
C+T#
B+{7#2 E
A+1TH#
RMGPM,RMGPL,RMGPA R R <% (mm)
L& (T P
=T (mm
(mm) = (mm) B | C |DA|FAIFB| G |GA|GB| H |HA| J | K | L OA |OB| OL i —=
12 10,20,30,40,50,75,100,| 42 | 29| 6 | 7|6 |26 |10 58 |M4]13[13]18 43]8 45| M5x0.8 _
16 | 125,150,175,200,250 | 46 [ 33| 8 | 7|6 |30 [105|7.5]64 [M4 |15 | 15]22 43]8 45| M5x0.8 -
20 [20,30,40,50,75,100,125150,| 53 | 37 | 10| 8| 8 | 36 [11.5| 9 |83 |M5|18 | 18|24 5.4 19.5/ 55| Rci/8 |NPT1/8|/G1/8
25 | 175,200,250,300,350,400 |535137.5] 10| 9| 7 | 42 [115] 10 | 93 [M5| 21 | 21|30 5.4 9.5/ 55| Rc1/8 |[NPT1/8|/G1/8
5 WA
(mm) [PA |PBIPW| Q| R[S | T | U|VA|VB o mo L Bepr Ao 0 g | X |[XA[XB| YY |YL|Z
12|13 18 48|22 |56 |41]50 |37 [20| 40 | 110 | 200 | — - | 23| 3 |3.5|M5x0.8/10]| 5
16 [14.5 19 54|25 62|46 |56 |38 24| 44 | 110 | 200 | - - | 24| 3 |3.5|M5x0.8/10]| 5
20 [18.5 25 70|30 | 81|54 |72 |44 |24 | 44 | 120 | 200 | 300 167| 28| 3 [3.5|M6x1.0|12[17
o5 [12.5 30 78|38 | 91|64 |82 |50 (24| 44 | 120 | 200 | 300 167| 34| 4 |4.5|M6x1.0|12[17
RMGPL (&5 4 75 Bf i & &)
RMGPM (i &h#hi&)A.DB,ER (mm) RMGPA (S B4 MR Bk# & 2)A, DB ER (mm)
A - DB E HE o5 E
(mm) | P | Rt e | 2! Sorr | o | nE | ot (mm) B | 100ummiir | soommoer | B
12 | 42 |60.5]/825][825] 8 0 18.5 | 40.5 | 40.5 12 6 1 13 | 425 | 4255
16 | 46 |64.5]/925[925[10| O 18.5 | 46.5 | 46.5 16 8 3 19 | 485 | 485
20 | 53 775|775 110 [12] 0O 245 | 245 | 57 20 117.5/ 10| 6 23 47 | 645
25 | 53.5|77.5|77.5[109.5/16] 0 24 24 56 25 117.5/ 13| 12 28 47 64
m HiEfIXBR S

R Plus Technology Co.,Ltd.

www.rplus .com

$32-963
¢ XAHIEXL
WA X XEB R ~F TR 1% R <t @
/
yam
/
Bl’iﬂ - b {i c_|d
4= pr e
= . _gﬂ (mm)
#® L H|=
® x| & b c d e
g &
@@' I 10.5| 55| 3.5 |95
] / 105/ 55[ 4 | 11
= 13.5| 7.5[ 4.5 |13.5
e 17.8] 10| 7 |18.5
XXEB
4xYYERYL
4 x NNi# 7L 4 x MMEML
XXE 4x DOAEFL XX
/4 x POBiNFLEOL
1— -
/
— O fil
o #
S
x| 9 3 x| iﬁg < o
x e j% =
i
B
O-O=—= :
O . KN T Y
k T 1
2 g
8
L L
Q GB ﬁ+: 2xP THEE
S PA+TE K
FA FB O XAnsRXL
O XAHIEXL I e
I
RMGPM,RMGPL,RMGPA% FI R <% (mm)
Vi
(ﬁn{ﬁ) Z#FTE(mm) | B FA |FB| G H|HA|J | K|L OL i TE TE
32 o5 50 75 505[375 10 [12] 48 112| M6 | 24 | 24 [34|M8x1.25 7.5 | Rc1/8 [NPT1/8| G1/8
40 100,125,150, | 66 10 |12 54 120| M6 | 27 | 27 |40|M8x1.25 7.5 | Rc1/8 [NPT1/8| G1/8
50 175,200,250, | 72 12|16 64 148| M8 | 32 [ 32 [46|M10x1.5 9 | Rc1/4 [NPT1/4| G1/4
63 300,350,400 | 77 12 16|78 162|M10] 39 | 39 |58 |M10x1.5 9 | Rc1/4 INPT1/4| G1/4
i \oplpe |Pw Q| R U |VA | VB 5] sz el ] ikmos nost| 25si] eweee XB|xc|xL| vy |vi|z
(mm) 0055} ) R200s( M T30S E [SbUT|100sts LT
32 |6.5| 16 |35.5/30| 96 78 |98 |63 124 | 200 [300| 33| 45 4 [45] 3| 6|M8x1.25[16/21
40 | 13| 18 [39.5/30|104 86 [106|72 124 | 200 [300|34| 46 4 [4.5] 3| 6 |M8x1.25/16[22
50 | 9 [21.5] 47 |40[130 110[130|92 124 | 200 [300|36| 48 5] 6] 4] 8|M10x1.5/20[24
63 | 13| 28 | 58 |50/130 124]142]110 128 | 200 |300| 38 5| 6] 4] 8[M10x1.5/20/24
RMGPL (AR 7R Bhd & 2)
RMGPM(i#&h#h&)A,DB,ER (mm) RMGPA (= 5 B 4R 1 3 2k i & BY) A, DB, ER <t (mm)
kL A kL E
(mm)| % | cdoumnr | me B P s e (mm) BT | T | ooy | B
32 75 93.5 | 129.5 15.5 70 32 20 37 57 79
40 75 93.5 | 129.5 9 27.5 63.5 40 13.5 | 30.5 | 50.5 | 725
50 | 88.5 | 109.5 | 150.5 16.5 37.5 78.5 50 19.5 | 40.5 | 60.5 | 87.5
63 | 88.5 | 109.5 | 150.5 11.5 32.5 73.5 63 145 | 355 | 55.5 | 825

HMIETFHXERAE]

R Plus Technology Co.,Ltd

| 026]




= 3 5@ L

RMGP A %l

6HOR0 XXER T TRERTE
Z_ WA
wB
- Kol -1 - |
- 7+ .
/ c _|d
M Fany e
PR AN
i N (mm)
:“T{« - - Qs (mm) | @ b © d e
N
® @ 80 13.3/20.3| 12 8 [22.5
x > 100 [15.3|23.3[13.5| 10 | 30
o0
1
=)
L= /7
XXEB
AxYYRYL
4 xNNiEFL 4x OOAIEFL 4 x MMEEML
- 7 WA 4x OOBIRILAOL
To\ N — /N
] || /] o] |
i © 6 JE
o KN ﬂ
=) S bl
o fé f% b=y _ - x| D b= f\ | ;m| «
He| 7 H gl > 5| T
Ghia\e/an/- N :
Ly
2 I
i © ©- N
| 2 I SR
P9 8 FRER |k & f
r — N
Q GC N 2xP 2xP PB TRV
DEHIFAO s GA GB (EIR) Jc .
—_ T \_®6HIE10
PA+TE JB| | _JA SHIR
FA FB | CHTE J K
BT | E G
A+{TE
RMGPM,RMGPL,RMGPA# FIR 5% (mm)
A | o 72 (mm) P
(mm) | ™ B | C [DAFAIFB| G |GA|GB|GC| H |HA| J |JA[JB|JC|K | L MM |ML| NN |OA|OBlOL NI T TN T 18

80 | 2550,75,100 |96.5(56.5|22|16|24] 91.5| 19 |16.5]14.5

202|M12|45.5| 38

75| 15|46 | 54 | M12x1.75 | 25 [M12x1.75|10.6 [17.5| 3 |Rc3/8 |[NPT3/8 | G3/8

125,150,175,200

100 [250,300,350,400| 116 | 66 |26|19|31|111.5|22.5/20.5| 18 [240|M14|55.5| 45|10.5| 10| 56 | 62 | M14x2.0 | 31| M14x2.0 |[12.5| 20 | 8 |Rc3/8 |NPT3/8 | G3/8
HL1E WA WB
(m:n) PA PB PW Q R S T U VA VB 25st | #Bi@25st | #BiB100st | #BiB200st | 300st | 25st | #BiA25st #BiB100st | #BiB200st | 300st x YY YL Z
55 4 T [100s 55 200515l T|300ststA b |25 M 100t b T | 200st T | B00StR b | blE
80 145 255| 74 | 52 | 174 | 75 | 198 | 156 | 180|140 | 28| 52 | 128 | 200 |300[42| 54 92 128 |178]|100M12x1.75|24|28
100 17.5]132.5| 89 64 210 | 90 236 | 188 |210|166 48| 72 148 | 220 |320, 35| 47 85 121 |171124]| M14x2.0 | 28] 11
RMGPL (42 £ 5 Bk & &)
RMGPM (i &h#h &) A, DB,ER F (mm) RMGPA (& 5 AR 15 2k 80 & &) A, DB, ER < (mm)
LS A E ki A £
50st #B3B50st 200st DB 50st #83850st 200st 25st #B@osst | #iB50st | 200st DB 255t BiBoS5st FBIBS0st 200st
(MM)| BT | odousbir | Wt W 20088 T bLE (MM)| SBT | sostshplF|o0sisbls| WLt ST | socsiT | 200sET | Wb
80 104.5 | 131.5 180.5 | 30 8 35 84 80 [104.5/128.5/1568.5/191.5| 25 8 32 62 95
100 | 126.5 | 151.5| 190.5 | 36 10.5 35.5 74.5 100 |119.5|/145.5(178.5|201.5[30 | 3.5 | 29.5 625 855

3 I\=]
%’E!ﬂiﬁﬁ?@f@ www.rplus .com

RMGPZR %l

RMGP-Z#£5I

R AR E T
(16-100)

i 7K BY

ORBRFER

4R - SRR

R SUEL
(5~50mm)

IR T BT
(f# 2 T 5)

= B SR EL

RTI

i g

R R =
R A
L | e m st I
NG I :

RMGP | #IfE | - ] -
EHEHY

718 | Z-MODIA(V)L

RINVR Bk B R DO
L FKM

R T

MELLE mRRHE

L[ @toenms

FATEEE. 0~25mm

R TR
(@B T )

FATEEE. 0~25mm

& B R

R R A

RMGPZ7l
i i 2 Y

BB B A

BNEIRE

R

M
25A-RMGP k RERGERR

RMGP ' [ % & sk x| - XB13

RMLGP :L:I [#14s |-[ 7% |BZ-XC8

RMGP EA [T |- BZ-XC9

RMGP | B s 5w —x035?
S
Nil @ BEE
T

RMGPM [ 4% |- [ 772 |z-xC82

T
E [ BRnE
12~50 | 75,100
32~100| 25,50,75,100

M

SHE 1 B F BN
HlmZEARSE — N| BHE
RitRumASE L| FEHE

RMLGP M #17m - ﬁﬁ—?

www.rplus

.com

MIEFHXERD

A 028]
R Plus Technology Co.,Ltd



= $hm &L

RMGP A %l

£1%(mm) 12] 16] 20[ 25 [ 32] 40 [ 50 ] 63 [ 80 [ 100
ERRE =R
HEFRX R
& = 1% B J1(MPa) 1.0
HAKE A E S (MPa) 0.12 0.1
) BEAAMEE ~10~60°C(B K R
] EEERE 50~500mm/s 50~400mm/s
& R A2
TRREANE +15mm
i opid T
[HZS 7B B B R/AR 1 R BREh R
BB Eh & +0.08° +0.07° +0.06° +£0.05° +0.04°
AERTEHME MR RER | £0.10° +0.09° +0.08° +0.06° +0.05°
EEOE M5x0.8 1/8 1/4 3/8
BRRRAE 1T wiMpRRERE
Amer P s R B B B SR
R ﬂ{m ﬁﬁ HLE(mm) RELTIRY(mm) (i)
M 38 Btk . 12,16 10,20,30,40,50,75,100,125,150,175,200,250
L |k ehR R B B R Ay FL 3 0 RLYD-32R
%ﬁﬁﬁi - ’%Eg@g‘%?ﬁﬁ 20,25 20,30,40,50,75,100,125,150,175,200,250,300,350,400 RLYD-32N
T Re e 32,40,50,63,80,100  |25,50,75,100,125,150,175,200,250,300,350,400
—N NPT B AL — - — —
e TR R B Tmm(® 12~ 0 32)Z5mm (D40~ © 100); & B B E R TR BMBRRELTEAITA .

B# R B

-
-—

H4:T(N - m)
AN A
PO

&AM & H#HF(N) ERHEN - m)
| R 13 B(mm) 51| B 13 #(mm)
(mm)| X 15 T20125 301401501 75 [100h25 hsol175le00les0la00laz0la00 (MM & |10 | 20| 25|30(40 |50 (75100 {125 150 [ 175 | 200 | 250 | 300 | 350 400
1o | RMGPM | 24]10] - [17] 141826 [22[ 10|17 |15 1 1] - [-]- 1o | RMGPM |03 03| - |027)02¢|021043| 036 | 0.31|0.27| 024 022|019 | - | - | -
avicrL | 371271 = (2235|3023 18|15 (1211|108 | - |- - RMGPL |061|045| - |035{058]050(037]0.29 024 [0.20{0.18|0.16{ 012 | - | - | -
16 |RMGPM | 38|31 - |27 23| 21| 37 |32 o7 oalooloole] - | -] - 16 |_RMGPM |069 05| - |049|043|038|069| 058 |050| 0.44| 0.40 | 036|030 | - | - | -
RMGPL | 54|40 | — |32 54| 47|35 |28 |23 |20 17|15 | 12| - | - | - RMGPL {099 (074 - |059]099|086|065]052(043|0.37|0.32{0.28|023| - | - | -
20 RMGPM | — |49 | - |43(38|35|87 |75|66 |59 |54 |49 |42|36|32] 29 20 RMGPM 105| - |093(083]0.75(188(1.63|1.44|1.28|1.16|1.06| 090 | 0.78 | 0.69 | 0.62
RMGPL | - [58]| - |481[101|90| 70 |58 |62 | 54| 48 | 43|35 |30 | 26 | 23 RMGPL 1.26| - |103]217(194]152|1.25[1.341.17|1.03[0.93 | 0.76 | 0.65| 0.56 | 0.49
o5 RMGPM | - |69| - | 60|54 |49 116|100/ 88 | 79| 71|65 | 55| 48 | 43 | 38 25 RMGPM 176| - |1.55(138(1.25/296|2.57 |2.26 | 2.02| 1.83 | 1.67 | 142 | 1.24]1.09| 0.98
RMGPL | - |82| - | 68[132|118| 93 | 77|80 |70 |62 |55 | 45|38 |33 | 29 RMGPL 21| - [1.75]337|302|238| 1.97 [2.05|1.78| 1.58 | 1.41 | 1.16 | 0.98 | 0.85| 0.74
30 RMGPM | — | = [203| - | - |164|182(159|142[127|116|106| 91|80 | 71 | 64 32 RMGPM - 1635 - | - |513]569]4.97 |4.4213.98|361(3.31|284|248]220| 1.98
RMGPL | - | - [191]| - | - |157| 164 |144|203|186|171|158|137|121|108| 98 RMGPL - [595| - | - |489]511]4.51|6.34 579|533 |4.93 (429 |3.78|3.38| 3.04
40 RMGPM | - | = |203| - | - |164|182(159|142[127|116|106| 91 |80 | 71 | 64 40 RMGPM - |700] - | - |566(627|5.48|4.87(4.38|398|3.65|3.13|2.74|2.43| 2.19
RMGPL | - | - [190| - | - |157|163[144|203(185|171|158|137|121|108| 97 RMGPL - 655 - | - |539]562|4.96|6.98 |6.38|5.87 [543 | 472 | 4.16]3.71| 3.35
50 RMGPM | — | — |296| - | — |245|273(241|216|195|179|164|142|125|111| 101 50 RMGPM - [130| - | - [108]120]10.6 |9.50 |8.60|7.86 | 7.24 | 6.24 | 5.49 | 4.90 | 4.43
RMGPL | - | — [208| - | — |173]|223 (199|264 |242|224|207|181|159|142| 128 RMGPL - 1947| - | - |762]|983]8.7411.6[10.7|9.83 [9.12|7.95 | 7.02| 6.26 | 5.63
63 RMGPM | - | - [296| - | — |245|273 (241|216 (195|179|164|142|125[111| 101 63 RMGPM - [147| - | - [121|135/11.910.7|9.69| 8.86 | 8.16 | 7.04 | 6.19| 5.52 | 4.99
RMGPL | - | - [206]| - | — |171]|221|196|262 |240|221|205|178|157|140| 126 RMGPL - [102] - | - |848(110{9.74|13.0(11.9]| 11.0|10.2 | 8.84 | 7.80 | 6.94 | 6.24
80 RMGPM | - | - [352| — | — |297|368 (329|298 [272|251|232|202|179|161| 146 80 RMGPM - [219] - | - |186]229]20.5|18.6|17.0| 156 | 14.5| 126 | 11.2]| 10.0] 9.11
RMGPL | - | = [243| - | — |373|364 (331|302 |278|256|238|207|181|161| 143 RMGPL - |161] - | - |233|227|20.6|189(17.3|16.0|14.8 | 129 |11.3|10.0| 8.94
100 RMGPM | = | = [515| — | — |445|498 (450|410 |377|349|325|285|254 | 229 | 208 100 RMGPM - 388 - | - |335|375(33.8(309(28.4|26.2|24.4 (214 (19.1]17.2| 157
RMGPL | - | - |360| - | — |407|503|460|423|390|362|337|294|259|230| 206 RMGPL - |274] - | - |306(379|34.6|31.8(29.3|27.2| 253 |22.1|195|17.3| 155
@ gﬂé"ﬂiﬁﬁﬁ?ﬁ? www.rplus .com

RMIGPZ 5|

d12-925 4-YYRYL

= B SR EL

RT iz

/ & XAH7ZEXL

R

[/ = :
I
L z
i 7 _ >;
— / '/ o
- g x
& ] |
- KA = o L1
AV H|
= x XA H7 XC
© | XL
1 \ e
AN - XXER & 41 B
wB \ﬁﬂ
XX#8
P . s
z WA _ L 4|
XX3 4- OB ALROL
4-NNii7l — /
“ S 1
T L / {};\—//A
< z 2 Y1 <
Iz @ z
- N 5z 1
< \TT__ 1 I b
] al Ay i X 2 g i T |
= I [/ 3 P 37 E
+H o H
e x N7 @ i\ x o «| ¢
H “J w Q > >
S yany A ]
B~ o A\ >4 \a/\
I % LM - }
1 /1 © GA 2-P ¢
& XAH7EXL PA+1T#2 GB / & XAH7ERXL
PB
FA|FB C+17# o_p
N J K
Q B+{T# E
AHTE G
s
RMGPM,RMGPL3tE R~ % st=17712
= =
(ﬁﬁ) ﬁ(ﬁg)& B| C |DA[FA|FB| G |GA|GB| H|HA| J| K|L| MM |[ML| NN |OA|OB|oOL P PA | PB |PW | Q
12 10203040 50.75.100.| 42|29 |6 | 8 | 5 [ 26| 11 | 7.5| 58| M4| 13| 13| 18 |M4x0.7| 10 | M4x0.7| 4.3 | 8 | 4.5 [M5x0.8| 13 | 8 | 18 |14
16 |125,150,175,200,250 | 46 |33 |8 |8 |5 [30| 11| 8 | 64| M4| 15| 15| 22 |M5x0.8| 12 | M5x0.8| 4.3 | 8 | 4.5 [M5x0.8| 15 | 10 | 19 |16
20 | 20,30,40,50,75,100, [ 53| 37 [10| 10| 6 | 36 |10.5(8.5| 83| M5| 18| 18| 24 [M5x0.8| 13 | M5x0.8| 5.6 | 9.5 | 55 | 1/8 [12.5|105| 25 |18
125,150,175,200,250,
25 300,350,400 53.5(37.5| 12|10 | 6 | 42 [11.5] 9 | 93| M5| 21| 21|30 |M6x1.0| 15 |M6x1.0| 56 |95 |55 | 1/8 |125|13.5|28.5|26
WA WB
RS RESTRE B
(mm) (mm) RIS T | Y VA VB osT 308t [ 1005t [ 2008t _[30st] 30st [ 100st | 200st . X (XA XBIXCIXL YY VL) Z
IXT |~100st|~200st|~300st{300StLE |1y | 100st{~ 200s1|~ 300513005t £
12 110,20,30,40,50,75,100,| 48| 22 | 56| 41| 50| 37| 20 | 40 | 110 | 200 - 15 | 25 60 | 105 - 23| 3|85 3| 6|M5x0.8/ 10| 5
16 | 125.150,175,200,250 |54 25| 62| 46| 56|38| 24 | 44 | 110 | 200 | - |17 | 27 | 60 | 105 | - |24|3|35|3|6|Msx08 10|85
og | 20.30,40,50,75,100, | 70| 30 | 81| 54| 72| 44| 24 | 44 | 120 | 200 | 300 |29 | 39 | 77 | 117 | 167 |28|3|3.5) 3|6 |Méx1.0[ 12|17
——125,150,175,200,250,
o5 300 350400 78|38 |91|64|82|50] 24| 44 | 120 | 200 | 300 |[20| 39 | 77 | 117 | 167 |[34|a|a5| 3| 6|Mext10]12]17
RMGPM(i& 8 &l 7%) R <FA,DB, E RMGPL (4 1478 Bk 8 & 2) R <tA,DB,E
FARES A DB E 54 A o E
(mm) 50st 50st 100st 50st 50st 100st (mm) 30st 30st 100st 30st 30st 100st
T | ~100st Mt M| ~100st Mk T ~100st IM_E 1T ~100st I E
12 42 60.5 85 8 0 18.5 43 12 43 55 85 6 1 13 43
16 46 64.5 95 10 0 18.5 49 16 49 65 95 8 3 19 49
RMGPM(i&8) i 7%) R <FA,DB,E RMGPL (4 14 7% Bk 8 & 21) R <t A,DB,E
kL R} B8 = K A E
(mm) | 50st 50st 200st 50st | 50st 200st (mm) | 30st 30st | 100st | 200st | DB | 3ost 30st | 100st | 200st
uN ~200st X E R | ~200st Wk T ~100st | ~200st | Wk IXT | ~100st | ~200st | X E
20 53 84.5 122 12 0 31.5 69 20 63 80 104 122 10 10 27 51 69
25 53.5 85 122 16 0 31.5 68.5 25 69.5 85.5 104.5 122 13 16 32 51 68.5
a1 & T NS
www.rplus .com !ﬁmﬁ?ﬁﬁﬁ%‘



¥ PLus

= 3 5@ L

RMGP A %l

$32-963 4-YYRYL
XXE
N N L .
o
A B
L2 e \
o
— o m
KA o x[
x D& - - H
% /4_//
XAH7
R o
\_\ i XL
L \ XXER = 41 Bl
wB
é XAH7ERXL XXEB
Z WA 4-MMEML
4- > OAIEFL
4-NNEA XX 2 WA / 4-4OBRAROL
IPaN .
q
PN e
X X/
o T | @ 1D .
4 T o
o o
el = m% gl 50 x| 4 * el 2| ¢
N/
I I z
[\ @ 7S [y
h
[ 6@ : & o :
ilfany < N A
e ilin &
& XAHZRXL | GC| \ 2_p PB & XAHZEXL
GA GB 2_P
Q [ = J K
s PA+{TE a
FA |FB C+i78 |
B+{T# E
AT
RMGPM,RMGPL3 [ R <5 st=7%2
=
(ﬁﬁ) ﬁ(ﬁgfi B | C |DA|FA| FB| G |GA|GB|GC| H|HA| J | K| L| MM [ MU NN |o0A|lOB| OL| P |PA| PB|PW| Q
32 59.537.5/16 | 12| 10| 48 [12.5| 9 [12.5]112] M6 | 24| 24| 34|M8x1.25 20| Mex1.25| 6.6| 11| 7.5|1/8| 7 | 15 | 34 | 30
" 1 25,50,75,
40 [100.125.120,| 66 | 44 [16]12| 10| 54|14 [ 10 | 14 [120] M6 | 27| 27| 40|msx1.25| 20| mex1.25] 6.6] 11| 7.5[1/8] 13| 18 [ 39| 30
50 13%%%%%%%% 72| 44 |20|16| 12| 64| 14 | 11 | 12 |148| M8 | 32| 32| 46|M10x1.5 22| M10x1.5| 8.6| 14 1/4] 9 |21.5| 47| 40
63 T 77 | 49 |20|16] 12| 7816.5[13.5/16.5/162|M10| 39| 39| 58|M10x1.5 22| M10x1.5| 8.6 14 1/4] 14| 28 | 55| 50
[IKES WA wB
R|sS |T]|uU]|va|vs X |xa|xB[xc|xL YY |yL| z
(mm) 25st| 25st | 100st | 200st | 300st [25st| 25st | 100st] 200st [ 300st c
T | ~100st | ~200st | ~300st| M F | |~100st|~200st~300st] M
32 | 96| 44110 78 |98 | 63| 24 | 48 | 124 | 200 | 300 |33 | 45 | 83 | 121 | 171 |42| 4 [4.5] 3| 6|mex1.25]16] 21
40 |104] 44 [118] 86 [106] 72| 24 | 48 | 124 | 200 | 300 | 34 | 46 | 84 | 122 | 172 |50| 4 [4.5] 3| 6|mex1.25]16] 22
50 |130| 60 [146[110|130| 92| 24 | 48 | 124 | 200 | 300 |36 | 48 | 86 | 124 | 174 |66| 5| 6| 4 | 8|m10x1.5/20] 24
63 |130] 70 [158]124|142]110] 28 | 52 | 128 | 200 | 300 |38 | 50 | 88 | 124 | 174 |80| 5| 6| 4 | 8|m10x1.5/20] 24
RMGPM(i& & &) R ~FA,DB,E RMGPL (% MR Bk e & B) R ~+A,DB,E
e A E e A =
(mm) [ 50st 50st | 200st | PB[ 5ost 50st | 200st (mrm) [ 5OST | 50st | 700st[ 200st | DB [50sT | 50st | 100st | 200st
MT | ~200st | BLF MT | ~200st| WF T |~100st|~200st Bl F M |-100st|~200st| M F
32 97 102 140 | 20| 375 | 425 80.5 32| 81 | 98 | 118 | 140 |16| 21.5 | 38.5 | 58.5 | 80.5
40 97 102 140 | 20| 31 36 74 40| 81 | 98 | 118 | 140 |16] 15 | 32 | 52 74
50 | 1065 | 118 161 | 25| 345 46 89 50 | 93 | 114 | 134 | 161 |20| 21 | 42 | 62 89
63 | 106.5 | 118 161 | 25| 295 41 84 63 | 93 | 114 | 134 | 161 |20| 16 | 37 | 57 84
e =
ﬂ!ﬁf'ﬂﬁﬁ;l}%ﬁ@ www.rplus .com

RMGPZR %l

= B SR EL

&
| L T

$80-9100
4-YYRYL
XXE
7 .
& o .
@
1 -
— 8 i \
< KA o H "l
=4 : ; -
6 H7 5
& ﬁ;‘ € 10
WwB \ xxEB = 4 (]
$6H7R10
Z WA
T
XXEB
5 WA 4- 5 OABTL L 4-MMEML
4-NNiE 7L 4- OB AFEOL
XX
N LA ]
S A" <
o=
/ ] m\/
T ERkE o
N b =
37 AN NN
x| % /% él 53 74 x| o K/ = E
11T P AN
|
. z -]
7 : g j
[l ‘D § £> ‘F }
Q PB $6H7R10
#6710 GA GH 2-P 2-P o
Q . "
PA+{T# JB, JA
s FA |FB C+{7#2 J K
B+{7#8 E
A+fTHE G
RMGPM,RMGPL# R R % st=17%
(ﬁﬁ) ’%ﬁﬁ)ﬁ B | C DAIFA|FB| G |GA|GB|GC| H |HA| J |VA[UB |K |L| MM |ML| NN |o0A|o0B|OL| P |PA |PB|PW
80 1225?'155?6715%130260 96.5[56.5|25|22|18|91.5 | 19 [15.5(14.5(202|M12]45.5|38 | 7.5 |46 |54 |M12x1.75 |25 [M12x1.75 [10.6 [17.5| 8 |3/8|14.5[25.5| 74
100 |250.300.350.400 | 116 | 66 |30|25|25[111.5| 23 | 19 | 18 |240 |M14/55.5|45 [10.5 |56 [62| M14x2.0 |31 |M14x2.0 [12.5| 20 | 8 |3/8|17.5[32.5| 89
d st =7 WA WB
(ﬁr’r{:’n) ﬁﬁ(ﬁg)& Q| R|S|T]| U|[VA|VB X YY |[YL|Z
255t(50,75,100st | 100~200st | 200~300st | 300sti) H 25st| 50,75,100st [100~200st| 200~300st[300sth! H
80 12255,15500,7157.5130200,O 52 [174] 75 |198|156|180| 140 28 | 52 128 200 300 | 42| 54 92 128 | 178 [100|M12x1.75/24[28
100 | 250.300,350.400| 64 |210| 90 |236|188|210|166 48 | 72 148 220 | 320 | 35| 47 85 121 | 171 [124M14x2.0[28]11
RMGPM (& Eh#h &) RMGPL (4R M3 Bk & R)
ki A . E ki A o8 E
(MM) 25,505t [50~200s1[200s1L | 25,50st [50~200st[200st}}{ - (MM) 255t | 50st] 50~200st 200stld £ 255t} | 25~50st | 50~200st | 200stl
80 115 142 193 | 30| 185 | 455 | 96.5 80 [109.5| 130| 160 193 |25| 13 33.5 63.5 96.5
100 137 162 203 36 21 16 87 100 121 | 147 180 203 30 5 31 64 87
ot £ A —
www.rplus .com !ﬁmﬁ?ﬁﬁﬁ%‘




= 3 5@ L

¥ PLus

RMGP A %l

RMGJZ& 51

= B SR EL

MIEE ‘

L% (mm) 6 10
= 5 I3 [T
[(FRAEE] RvMGP - A - L @Jf@ii: il
SRTEH T HL{E(mm) 16 \ 20,25,32,40,50,63,80,100 fg e =%
R ¢ , ’
. N B P A 752 FE ) (MPa) 10 AR 1.05Mpa
M | BEI#HK RAEE TSR | 2@ 0 15‘ 012 BATEES 0.7Mpa
3 1) i . = R MP . .
L |BERANAS R S | waﬂﬁgj]( =) — SNTEER 0.15Mpa
I - B N R b g vk B A28 i Al R BRI ~102160° (A H4)
16|16mm 50 | 50mm  #&iE4E| M5x0.8,RC  Tmmrmm ZE R IB AR B AT W1 3
20[20mm 63 | 63mm N NPT R (B Rt pEiic] E[Dicpiap::
25(25mm 80 [gomm 1" G “REMEBIMAL 5% EERE 50-500mm/s
32|32mm  100| 100mm “®16EHEMS5x0.8 A E DIRAE A
40[40mm TREEAZ *omm
e M3x0.5
B2 K ®5 [ 6
o T AFREIRE TER
> EgETER (mm)
’ 1{8(mm) mELE BISREHER 2 38
16 25,50,75,100,125,150,175,200,250
RMGJ - [0 - [RLYD-38 ouT IN
FREFE]  Aucp B _I——r] 20-63 | 25,50,75,100,125,150,175,200,250,300,350,400 [10] [RLYD-38] E—» E
. - 50,75,100,125,150,175,200,250,300,350,400
GEIE — S et DO B EL 80~100
HI1E = . RO mgk| ofR B N
e Bk s [ A R AT wERE :
80[80rmm RECH Ro Z=A] 2R WiE | shE | 21E [FmEm TEEAH(MPa)
- N_| NPT THMBMEE - s 1R (mm) | (mm)| 7@ | (mm*)| 045 | 03 | 05 | 0.7
po— @
PG | g@%@f’%ﬁ 6 lomm 5 OUT | 283 | 4.24 |8.48 | 14.15|19.81
L — 6
REVEBIBA R SR _10 | 10mm P IN 212 | 3.18 |6.36 | 10.60 | 14.84
77
OUT | 785 | 11.77 | 23.55| 39.25 | 54.95
DY A =
mi RELFE(mm) R RREEE 10 ° IN 58.9 | 8.83 | 17.67 | 29.45 | 41.23
RETHRI, w2 WRTERPBEFARNERER.
S1{E(mm) 50 80 —  WEME—EREAE).
N . : 0.1~1.0 = & for
[R5 B A S R ) £ R 2 BE(MPe) B
RMGP A - _ 18 FSE 2 3% E(mm/s) 50~400 maE
i & R AR i =% 7F2(mm) FINE REFTFE(mm) BAKTE(mm)
s , %14 B B A L 3 F52(mm) 25,50,75,100,125,150,175,200 &(mm) 5 10 15 20 6 510,15 1215(FRRERY)
FRAR R AR = . 10 5,10,15,20 1E20(REEE)
e - . w3k | 218 P S LEET s +0.05° +0.04 5 27 36 3 8.4 B .
& RELfTRR s | B3k RMGJE-9
12| 12mm 40 |40mm . . b 10 40.6 48 55.6 63.2 24 RHEHRMGI6-10 12X E/HE
16| 16mm 50 |50mm mﬁf‘f%; i1 B B 5% Sh 5 R ~FEIRMGJ6-10
minsk| Ro | mwtamm Ep——
20| 20mm 63 |63mm TNt BT | (B E) BEMMRERNTERIZXK,
26]25mm 80 somm  ———1—o  mwmmmm R RSER %2
32]/32mm  100/100mm — R BEFRMZ %
g | LIFEE AR E S (m)
my | BEME | WEA | EREX | ) - REEm) BARE
it DC BEERE | o500 0.5(L) )
&
1% (mm) 12 - 16 ‘20,25,32,40,50,63‘80- 100 = RLYD_38 ° ° .
B&EH BEMPa) 1.0 " (NPN) 5V ERER
BREAGEMPa) | 012 \ 0.1 s . _ 12v R gusEoe
[ N 4 g - 2 =4 24V RLYD-38 ° ° o A
fEFEEE E(mm/s) 50~500 ‘50 00 % (%3 ) (NPN) PLC
& I {2 R 1 B8
AR D £0.01° — R 12V | RLYD-38 ° ° o -
(NPN)
"ERFMERERETEARE,
“EAIEEANE BN, FREAAIHE
%’E'rii?iu%e%uz‘\uﬁ? www.rplus .com www.rplus .com EH}%EUEF&Z‘\EI



w PLUS SHR RMGJ# 51 RMGG % 3l BERRI/EFR W BI{ER I ‘

BB R AE(TIRMENR(D), TR MBS WM R fE. i MEEREAWGE, FROHL, BARNEERE, ETBEE E;ﬁ;%m) 20| o | o | 40?5; 50 | es | &0 [1co
ZOMSRIETRESEBRAOL Y, ETESUHRHREN. A B S pryr— pryn
B EREN 1.0MPa
| % wAREREN 0.15MPa (7K £ & # %)
T T _ _ REMRERE ~10~60°C (FRIEL)
%@@i@d @ % SEEEE 50~ 1000 mm/s ‘50~700mm/s
| I EE KER IR R E AR N B R R E RS (21E)
‘ TRAZ(mm) ~1000 13, 1001~1300 153
BAr: on.m 772 T 45 B(E ) (mm) 0~-10 0--15
i 78(mm) HiE - BABYEER() 5.88 196 | 58.8 | 147
) 5 10 15 20 (mm) e B REEER. pre ABE
A 0.92 0.73 061 7 5 MR iR BB 1R
— £0.1° WREARRE SR, e g BEB®MA  |+0.07] £0.06  [+0.05] +0.04° +£0.03
10 4.75 3.96 3.36 2.87 10 ROHBEES. SRR 5 ; . : ; .
3 5] 4L Y i 7K T IR 40 B R B A SR TR B R HMERBkER | £0.06 10.05‘ +0.04 ‘ £0.03° |+0.02
BEOERC 18 | 1a [ 3] e

“NHEEEBOFEBET1RMSOVG32,

ShEB R =T TSR I

BISRRIRAE STEEA B #F SR
¢\6 =B AT I Pt > | o St
RMGG [OBI[37 - [100] DR EIE:20,4778125, HRHRHKEK, EABRE —
23+1788 2-¢3.3 @7l I T EREEISRMGGLB20-125
2-M2.5 X 0.45 35 18.5+1712 nfl06.2R0.5 6 oL 5 e— 2)FF WAL 40 1772250, BEBK, AIAMEL, HRIMERIRD il
[23.3] 947 4-M3x 0.5 %5 M| BEHR ERERISE:RMGGMF40-250 BRI
2-02 L | AR sRER - ZHERR RLYD-81R 2 & # 1 [ [
F) —— & #im BMA3-040 2B # M R B B E 4R
— 1 B oAk -
&) T @S | RS T8 WML SR
A g 5 S@® ]S —H =\ GRBmE@ T o [EenE - i . R BB )
S fg Ml de A A /=10 e 5 b 7o M) 7N i 5
© 1A M i - o © 7B B RS BY 1 AR A AT AR (mm)| (mm) 47 2(mm) AR L e |GHBHER
A €5 ot o — g & S B
L| o H € \’& ] 20 |00 250,300,350,400 BMA3-020 |RCG1N20-PS
\ T '
fo\ toI N e\ T V¥ o5 350,400,450,500 BMA3-025 [RCG1N25-PS
\J Bt BAE ©r | N i —
- 2_M3x05 32 350,400,450,500,600 BMA3-032 |[RCG1N32-PS
8.4 |6.1+{T# 6 40 75.100 350,400,450,500,600,700,800 | RLYD-81R | RLYD-81D | RLYD-81N | BMA3-040 |[RCG1N40-PS
9 12 —— 125150,
200,250,300 350,400,450,500,600,700,
14.5 50 800,900, 1000 BMA3-050
63 350,400,450,500,600,700, BMA3-060
10 800,900, 1000,1100 B B
= _ P e 350,400,450,500,600,700,
¢ 2544712 2-$4.3 W1E98 EFLO.5 80 BA-08
2-M3x0.5 _L 19+17#2 8 — 3?30200025%02&; 2501 jsg R3C-D-B54L RD-K59L RD-G59L
[%24.5] 10.5+17#2 / P 4-M4 x 0.7%5 100 500,900, 100011001200, 1300 BA-10
i P (Hega7L) / RO
\GD SI : \(D/ a % BEEA RMGGMOO-171 ‘ .%%’Eiﬁf%iﬂiﬁ:RMGGLDD—ﬁﬁ
— 3000 P=0. 5mp'a 300 P=0. Sm%a
PR === NIOICIS =5 ( e o
r~ 00-, 070,
B8+ @3 = SI & & Q8 1000 PG GMg0- H:%D\D\
I\I A @ ‘% EHE MGGMs3_ 1000 MGGLUS&L
T = ieg,
N, . 50 AMGGMOs0_ 5 S6r,
< SERESS T30 — : ;
RMGTWa0
B BR A T f o o
e 2-M3x 0.5 z RMGGMDBL,h < MZZD ﬁ\
8.6 | 5447 75 = o S I 521y
10 15 I‘ﬁ = 7% @10 'WGGL x\
17 o — )2 s
QE i §5O 2}7\
ﬁ; BMGGN; C ﬁ;
8 — 8
1d 1
0 50 100 150 200 0 50 100 150 200
SEFOBRBEOHAROE I(mm) SEFOABEOCHEOE I(mm)

-+ 2y = o (== Y =
%’?SE?&%EE&E‘ www.rplus168.com www.rplus168.com !ﬁ@!ﬁ?ﬁn};&f‘ﬂ




W PLUS BEREN/REFR RMGG & 3l RMGG % 3l BERRI/EFR ?C BI{ER I
£am MGCB

£ % RMGGOB 4x OFEIL, NI PG 15 71,7
$20~}50 EE4 x H _— N 4x¢Fj§¥L,:ILT'L¢G
4x0 L. D (BRTH) 4x0 c p EE4xH *2
—_ X — (BRTx)
— éi | - = B 1= .,I A / S L
+E== =: i o i (=] +—
T | . - J—
| ? E@ = ik 9-@ s =ikel ° = — E I L{l B )
1~ G Ha_ @ Yahy i — M <
x| w_% 2 MK € 2 BF pNDA A - /(R_)_ZXCP w] 4 *53%
I 5 o R =. —e w x| 91 —,,l - 1 - w| ofF—— {— o| 2 N5
= D : D I \d
= s 1 = - o
@ o- 1 ® —FT = = T !O
AL C ;:u.
3 M T A AB SIET o g ==
pp v
X ;HI;: - | AA A R AP
+17 ] X Y+{TH# AB
AC AD BxAF —t 2478 LJ
|
I T
< AC AD 8xAF
= : = g x
—H =
e — I 29 2 |
(- 1l - -
) (mm) o < o
(rﬁnlf) A | AA | AB | AC | AD | AE AF AL| AP | B C D E F G H I J K L M N & 1007E ZE45 AT i B 35 50 —
20 90 | 11 11 75| 75 30 M5 x 0.8%=10 6 22 | 108 15 60 92 | 55| 9.5%6 | M8x1.25%14 | 30 | 55 60 80 | 25 45
25 | 100 14 | 13 [ 75 [ 85 | 30 | Mex1®12 6 |27 [ 180 [17.5] 65 [ 113 | 6.6 | 113®8 | M10x15%18 | 35 | 65 | 70 | 100 | 35 | 54 (mm)
32 [120 | 14 | 16 | 10 | 100 | 35 | Mex1®12 6 |32 |135| 20 | 80 [ 118 | 6.6 | 113®8 | MiOx15%18 | 40 | 73 | 80 | 106 | 35 | 60 T
40 | 140 | 17 | 19 | 10 [ 120 | 40 | mex1.o5%16 | 9 |37 | 170 | 20 [ 100 | 150 | 9 | 1ami0 | Mi2x1.75%21 | 50 | 93 | 95 | 134 | 50 | 75 (mm) | A | AA|AB| AC| AD| AE AP AL B|C| D | E | F G H I J|K|L|M|N
50 170 | 23 | 21 10 | 150 | 45 | M10x1.5520 | 9 | 42 | 194 | 25 | 120 | 170 | 11 | 173812 | M14x 225 55 [ 108 | 115 | 1562 | 56 | 90 63 200| 25 | 25 | 15 | 170] 50| M12x1.75%F24 | 60| 228| 30| 140| 200| 13.5] 20&14.5 M16x2;FE28 | 65[117[135[180| 66 [100
_ . _ N 80 230| 30 | 27 | 15 | 200| 55 | M12x1.75%F24 | 70| 262| 30| 170| 234 | 13.5]| 20&14.5 M16x2;FE28 | 751138|160(214| 76 [115
RITE BBUTITEMBRIR 100 [280] 32 | 30 [17.5[245] 70 M14x2E28 80]304]| 35[210]| 274 15 | 23817 | M18x2.5%32 | 85 [153[190[245] 80 [125
& = g . /= 4= Iy 4= =
A=l o |Pla|R|[s|T|u|V|w|x|Y|z mE LR Y B | zerzam RiTE T DAL LL T
e 1= = =
20 M6x 129 [1/8| 12| 12| 26 | 12| 82 [43.5] 40 | 39 | 71 [ 157 20 14 79 20 100725 M | (ﬁ%ﬁﬁ) 0 Pl Q R| S| T|U|V]|W]| X]|Y z (ﬁ%ﬁn‘) R Y (ﬁrﬁiﬁ) REFERTE
25 M6x 113 |1/8| 12 | 12 | 31 | 13 | 98 |52.5| 46 | 46 | 71 [ 175 25 14 79 25 1257 U 63 M12x1.75%223 14129 | 14| 72| 30 | 192|108 86 | 54 | 107| 308 63 16 | 119 63 300f7F 25k I
32 M6x1%13 [1/8] 12 | 12 | 38 | 16 [114|60 | 52 | 46 | 73 | 201 32 14 81 32 150f7 sk I £ 80 M12x1.75:828 3/8| 40 | 19| 89| 35 [224|128|104| 66 | 131] 355 80 23 | 145 80 4001525 A E
40  |[M8x1.25%16|1/8| 13 | 12| 47 | 20 |134|72 | 62 | 56 | 80 | 238 40 15 89 40 200f7 R M £ 100 M14x23% 30 1/2| 40 | 19| 110| 40 | 262|143 |128| 66 | 131| 410 100 23 | 145 100 500775 IX £
50 |M10x1.5%21|1/4| 14 | 14 | 58 | 25 |164[82 | 75 | 67 | 92 | 285 50 16 104 50 250f7 e N k
RMGGLIF N s y RMGGLIF
EME 0 e Dl o sz EWE 4635100
¢ ¢ = (ERTH) ro— 5 N
i o gy g T ol — : M /4L0 23
-t b= P 1 (2RT %)
\ IR — T O ® 5
i < o ] | ] %ﬂ] H @ --a T !
o | L@ T o ® ENENY) A Tl | —A— ‘ i I
<ol T T oy = 1 7P — =
e | T €84 gy O o4 HEEEE o e
[ [l ’CJ J‘ Rl L@ [ —+— U << E W x - | \,
e 12 R LAP ] ' . g T 15— -~
— — AR Y @ a8 I’ — . + |
4x HAKTL J T yALeT ___AG ___ 4XAOR o © I &
I AL
<l ' M A R LA
AN | 4x OAKFL J X Y+{T#2 _lAB
o s _ Z+TH
S
= P E— J HE 4XAOR

[ s h - A AG
REERS (mm) ‘@ﬁ
iE E&l ij: ol — @

(i) A AA | AB| AG| AH | Al | AJ| AK | AL | AM | AN | AO | AP B | J K L M N (0] ° - J
20 90 11 11 [ 112 [ 125 | 82 95 | 66 | 9 65 | 115 | M6 | 22 [108 | 30 | 55 | 60 | 80 [ 25 | 45 M6 x 189 P S i
25 100 | 14 | 13 | 134 | 150 | 92 | 108 | 9 9 75 | 135 | M8 | 27 [ 130 | 35 | 65 | 70 | 100 | 35 | 54 M6 x 1313
32 120 | 14 | 16 | 134 | 150 | 102 | 118 | 9 9 85 | 140 | M8 | 32 | 135 | 40 | 73 | 80 | 106 | 35 | 60 M6x 15813 REE R (mm)
40 140 17 19 170 186 134 150 9 12 105 175 M8 37 170 50 93 95 134 50 75 M8x1.25R16 (ﬁl1«() A AA | AB | AG| AH | Al Ad | AK AL|AM | AN | AO | AP B | J K L M N o) p
50 170 | 23 | 21 | 190 | 210 | 140 | 160 | 11 12 | 115 | 200 | M10 | 42 | 194 | 55 | 103 | 115 | 152 | 56 | 90 | M10x1.5% 21 _
. - 63 |200| 25 | 25 | 228| 250|158 | 180 | 14 | 12 | 135|234 |M12| 60 | 228 | 65 | 117 135|180 | 66 | 100 M12x1.75%23 | 1/4
RITE BBUTTRMRIR 80 | 230 30 | 27 | 262| 284|178 | 200 14 | 16 | 155|268 |M12| 70 | 262| 75 | 138 | 160 | 214| 76 | 1156| Miox1.75%28 | 3/8
& = 1L J= s 100 | 280] 32 | 30 | 300|326|200|226| 16 | 16 | 175|310 |M14| 80 | 304 | 85 | 153|190 | 245| 80 | 125 M14x23R 30 1/2
P lalr|s|Tlu|l Vv | w|x|Y| z sl R Y A zmerzpam = !
= FO oy 4= 3o = o
20 1/8 |12 |12 | 26 | 12 | 82 | 43.5 | 40 |89 | 71 | 157 20 14 79 20 10017 B M £ — RiTE ﬂﬂ,lﬁl-[:ﬁ&m“ﬁia‘
25 178 [12 |12 | 31 | 13 | 98 | 52.5 | 46 | 46 | 71 | 175 25 14 79 25 125G 2 W L (ﬁr%ﬁf]é) Q R S T U | v W | X % z (511‘“) R % (ﬁﬁ) RS AT
32 1/8 [12 [ 12 [ 38 | 16 | 114 | 60 | 52 | 46 | 73 | 201 32 14 81 32 1507/ s M — N
40 1/8 |13 | 12 | 47 | 20 | 134 | 72 | 62 | 56 | 80 | 238 40 15 89 40 200f7 5 W £ 63 29 | 14 | 72 | 30 | 192|108 | 86 | 54 | 107 | 308 63 16 119 63 300{—_;&@@,(;
50 1/4 14 |14 | 58 | 25 [164 ] 82 [ 75 |67 [ 92| 285 50 16 104 50 2507 s M b 80 40 | 19 | 89 | 35 | 224|128 | 104 | 66 | 131] 355 80 23 145 80 4007725k IX £
100 40 19 | 110 | 40 262 | 143 | 128 | 66 131 | 410 100 23 145 100 50017k IX &

ﬂ!ﬁfﬂﬁ%ea ol www.rplus168.com www.rplus168.com !ﬁii’h%o\ﬁoqny%u gk




&
¥ PLUS R & R RMXS % 5 RMXS 5 mamm [ W menn

EAEER E1 ERABREE: Wik B2 5M#E: Ln(mm), 55 i b B BE AR 18 E{: An(mm)
o) ik @
il RMXS6 | RMXS8 | RMXS12 | RMXS16 | RMXS20 | RMXS25 W W #7128 Lk 2L BRn®
g S (mm) D6x2 ®8x2 ®12x2 ®16x2 ®20x2 | ®25x2 ()
G ® W - (B 08) | (EER O11) |(EE R ©17)| dB% K 022)| (%K ©28)| AEER ©35) 2010 | _
b\ ERRR 25 ele)
\ e L DS 21 et " '3 |as
b .\_'.",/ BEEHEAEHD 0.7MPa ;}E
o B 1515 B 5 0.15MPa W i Mp( Mr(
*ﬂ%%%ﬂ?ﬁ]ﬁﬁ%%(0~5mm)o Iﬂ;f‘z I]‘;;iﬁ:_ ﬂil%]lj# —10~+60C 155&}%?& | w @|
SRR, 2EEN S, WEE, RERMARER +00T (ERRE) O s
AR THRARGES, EEBR TR, mEEE 50~500mm/s o) L1, | A2 L3, |l.A6
RETFEREERRS, BRI, KE X 1% 1B A 18 (FE ) L2 A4
RTHEA>EEESRER, BABREAE. - - W
ME=ERE, 4 o TRE _ Mep Mey
TREBRBR, TREUMHM. BpEAE M3x0.5 | M5x0.8 \ Rc1/8 B3 THEERMK o 7 TN
T A, #5 B F13RBISOVG32, KERA f;njﬁ o] S
.}
i i ! 2
RER w N )
| FR(mm) I TR E IETELET: Uj <
fIKEd CEEREE FERRENIE: RN ENELEMNNE
(mm) 1020 30 40 50 75 100 125 1507 o N AR | Hme || Wi R HERERE K=1 BENKE: RUBZIHEERN, AREEELNNE
8570 AR b F®1 RmARFEEE: Emax(J) Fl4 AFEREBREERNE B
— RFEE N
‘ " PG BRI E ©
xS RMXS6 0.018 - o7
RMXS8 0.027 0.045
77 (.
RMXS12 0.055 0.11 = O
RLYD-07 K=0.6 RMXS16 0.11 0.22 ﬁ 0.4
RMXS20 0.16 0.32 £ 03
RMXS25 0.24 0.48 o
2BARE BW k 802
B ros” %3 AEHHEEREER: Anmm) “
T A = SoAr (5 g =
RMXS6 0.6 A 5E A?ﬁﬁq:;m%iﬁgﬁifﬁ(;?%& 50 100 200 300 500700
RMXS8 1 RMXS6 1 B 13 16 16 5 FEE Vamm/s
Sy BE B 9 AR B RMXS12 2 .
BRRRAE RMXS 1250 -RLYD-07 P %750, RMXS8 | 11 | 7.5 | 13 | 20 | 20 | 7.6  [E5 RHFHERK: v
R ATy 1269 S RMXS16 4 RMXS12 | 24 | 8.5 | 26 | 25 | 25 | 8.5 -
e 1 5 A 1A 35 RMXS20 6 RMXS16 | 27 | 10 | 30 | 31 | 31 | 10 :
g m | 2@ RMXS25 9 RMXS20 | 34 |14.5] 36 | 38 | 38 |14.5 .07
« & 7 RMXS25 | 42 | 19 | 44 | 46 | 46 | 19 .
T 1@ = 2
WEER - : £4 BARIEHIE Mmax(N - m) % o5
Mmoo | & 1) fE o] #IE n nf& _ F7E(mm) w 0.4
AS | BimBER mEW | & ) o 10 20 30 40 50 75 100 | 125 | 150 2os
- B B 0 R
AT | mumme Foo| #wB%Es . RMXS6 | 0.7 1.0 1.2 1.2 1.2 - - - - <
— - . AR A0 3 | AR N A B RMXS8 | 2.0 2.0 2.8 3.6 42 | 4.2 - - - 0.2
A |MHBE R__| s HERHERE R L& RMXS12| 4.2 | 42 | 42 | 58 | 7.0 | 10.0 | 100 | - -
‘BS | Wi MEEES P | EEEE RMXS16| 113 | 113 | 11.3 | 11.3 | 1569 | 25.0 | 34.1 | 34.1 - 50 100 200 300 500700
‘BT |#MAEEGE FR | BEEREGRBH Smggg ;g-g ;g-g ;g-g ;g-g i;-g 22? 23-2 gg-g gg-g FHEE Vamm/s EREREY mm/s
. s p P : - - - : - - : - ) BRAEENE, FATHRE
B |MsREEGS FP | SEESERMMEE e EREn EREEEE
CRMIXS 6 “RXS6Mm M = gk x
sma = : e =% B % ] EfL
AEET{EGHES = B B ) B An(n=1~6) HEEFO BB TR mm Va THRE mm/s
- E @J‘E*E _ J w ETEHEE kg
BEHEB BT Ea REFEIRE J Wa | AHEPRHEE kg
Emax RASFFENRE J ey
+ KBBAE Ln(n=1~3) IMEE mm We @I%%EE; kg
HEEE RMXS M(Mip M.V B EEENE. RROE BRIE) N-m imax Eﬁma‘;’g‘;ﬁ‘ﬁg i
B Ma(Map,May,Mar) SETRENB(EmNE. REO%E. O8N N-m — -
+ '::> Me(Mep,Mey) B)E (8 h e, REAI%E) N-m BIAMEFABWERL| -
Mea(Meap,Meay) REBENIE(ENE. REEHIE) N-m Y RHFENERE -
k! Mmax(Mpmax,Mymax,Mrmax) ARG NIE(ERANE. RENHE. LEHE) N+m 5 BEEY -
= v BEEE mm/s K TEZEEN =

030 LTTTETTE i rptus 166 com PERIZENZS WFY

R PIis Technology Co.Ltd. / WWW.rplus




W PLUS A R RMXS F 51 RMXSs % 51 B &R R’ HE T I
RMXS 8 2-M3 x 0.5424iR4

RMXS 6 > 7 EEOE:2-M5x0.8
e ety = 3.5 J | 6 RKRI5(HIHITIEAELE)
£ 70 2 = "
18 o BIIRITIR R E Y [ \\} r :
2-M2.5 x 0.4542&R3 ang
x * 2-M3x 0. 58 4LE5 =] @ ® gu
L 55 3 8! =
BEOE2-M3x0.5 o fm I ! )
6 ] >
[ @}(‘ - 4-M2.5 X 04548 ALIR3.5 @ SO P | 5] ~f ©
2,18 J 1.5 BK10.5 (% HITRBELE E) T
© i 3.8 7
o - = o R —
it o 2 = o K 146 2-M3 x 0.5424LR4 *(171275. 100mmZ4{EERTL)
© f T — X
[t} L n‘ _E}—l gt =
a |l ot 22 | wmRAELE B TR ERITRAERE
K 125 2-M2.5 x 0.458 4IRS 2-M4 x 0.7424LR6 / N-M3 x 0.542413R5
10 6.5 3.5
PELE S ‘Eg /E 4 4-M3 x 0.54B4LR4
o == il
@ L i e 0
: N N7~ 1 77 - (D @
g s e ™ Z D
s EwTEEEEE 3 R FY NZates N7 - & § 2 !
- & ad C T
\\ N-M3 x 0.542 41 R4 / °lg © © \Q\ '!% -
3 4 k!
s : a5 1 ,_ - :
! . —~ +0.025 37 —1)xF 8
ﬁ 'Q@ O=—S——-8 © o ﬂ »3H9*%*23 12 2 E;
e | H S g /0 [ o o I
i = ™ = 6 » «®
H *E =
ol & / F u(\l) 5% 2
K @
£ 83HO P 2.5/ N ¥
11 (2—1)><F 2 oi &
7z =2} <
I o
™ E
= b
Z
y4
NN-1)xH G
r 5.5 (NN-1)xH g R
5.5
1 H 13 6.5 13 6.5
LA .B
A B | u
g;UUWmN W] A= ; 3 WH] 9. [ )
e 3| = <> 5 ; : 2 KDki | g5 ,@A D~
m— i i D— BB D) ey = =
I I ] H &YW &89 ¢& A Lo -
L ! HAY A A A A -+ @
EANZA= Y Y f - -
& : i S
t
s NN-M4 x 0.7424L RS
s A B
NN—M4X0.7mgﬁl7k8 A B |’— QEAA QEBB
. . — — (mm)
HEAA HHEBB
Bl gk F N G H NN I J K M z 77
(rm) RMXS8-10 25 4 9 28 2 13 19.5 23.5 49 48.5 56
TR = N 5 o NN | 5 % N > > RMXS8-20 25 4 12 30 2 8.5 29 33.5 54 53.5 61
T 0 O S S 0 R T T T T
ANXS6-20 %0 : o % 2 19 21 25 o2 o159 o8 RMXSB_SO 38 6 20 23 4 24‘5 60 63'5 101 106 5 108
ANIXS6-30 20 o ! 20 S ! 49 125 o2 615 08 RMXSB_75 50 6 27 28 5 38‘5 96 88'5 151 150.5 158
RMXS6-40 28 6 13 30 3 19 50 52.5 84 83.5 20 = - - :
RMXS6-50 38 6 17 24 4 25 60 62.5 100 99.5 106

2+ 2y e o (=X ¥ o=
[ZEY BERERAE www.rplus168.com www.rplus168.com h’:%’f‘ﬁ@"&f‘ﬁ'm

R Plus Technology Co.,Ltd.




W PLUS iR AR RMXS 3 5l RMXS % 51l BARE K J[E3 L

RMXS 12 RMXS 16

2-M4 x 0. TH2ALRS

2 ,,9.5 EEOME: 2-M5%0.8 3 11 2-M5 x 0. B#24LR5.5
. BEOE: 2-M5x0.8
4.75 J | 8 RA(BHRITEFAZEE)
\ 5.5 J | 10 RA13.5(BIHITIEFAEES)
i \ Ji \
S © © o —HI \ N
$ ) o hd _@_ & -—
im {) Py o - o
L‘u & “’I TP lO
fk fl\ Fan W an Y ®
I Y v AN
5 85
K 1as *2-M4 x 0.74B4URS 10
(f7/275mm. 100mm&4{EEE7L) \ 5.5 *2-M5 x 0.8424LiR5.5
31.5 HTEEREE IPP——— EERTEREREE K 21 *(4FA275mm. 100, 125mm&4EIZTL)
2-M5 x 0. BIRALRS N-M4 x 0.74841iR5.5
R) 5 - I l -
%% H -+ 7 ] 2-M6 x 19240R10 SRR
' i = = ws | EmEEEEE EIRITRERERE
Nz ' A o H— i : 12_6
o @ ﬂ o b / N-M5 x 0.84240E6
- LA A Ll—ﬁh—— A ° g A 6 4-M5 x 0. SUBURT
- £ A = NZ T & g & 2 S
i o / ’ ’ b m@ |
I : : e £
© w|E ©- -© O~ 3‘3 @ - : > e ~ )
3 IE| e 5 g ° o & B | @
= . ¢ iz : :
F p ? ® o 6@ B—— & g o B ]
o & % E§ : PO OF=O=9© 7 9 &
4 L =
2 16 (-9 i o-® 2lg © [ £
16 24H92°%3 5 T L] ¢
po——e 20 4 F < I3
B4
o 8 M 0 5 05H93* 4 21 (N-1)xF by
I
wn
]
@ (3]
N e o I 4-M4 x 0. THEATIR6 (NN-1)xH G
n
z H : o 10 M
27 LA . B
0
© o
i 8 ¢
NN-1)xH -U_
(N s 17N S N . N N =
" PO QOO
. H Z
g I
i ,
Fes W (B O (D) D ()
&) O &0 & & &
BE-- LA . B |24 10.5 24 105
1 [ (mm) R
185 8.5 185 8.5 i F N | G H NN I J K M Z Y4 ) 0,
LA .8 RMXS16-10 | 35 | 4 | 16 | 40 | 2 | 10 | 40 | 29 | 76 | 75 | 87 g (9 o 2 <> o
<
(mm) N Wm A RMXS16-20 | 35 | 4 | 16 | 40 | 2 [ 10 | 40 | 39 | 76 | 75 | 87 "t ! —
T TN TS T E T T T - T T, o <>‘°‘ ol C)‘A @ RMXS16-30 | 35 | 4 | 16 | 40 | 2 | 10 | 40 | 49 76 75 87 g) {} _
¥ L) i
RMXS12-10| 35 | 4 | 15 | 40 | 2 | 10| 40 | 265 | 71 | 70 | 80 : E RMXS16-40 | 40 | 4 | 16 | 50 2 10 | 50 59 86 85 97
RMXS12-30| 35 | 4 | 15 |40 | 2 | 10| 40 | 4655 | 71 | 70 | 80 RMXS16-75 | 65 | 6 | 26 | 35 | 4 | 40 | 85 | 94 | 151 | 150 | 162
RMXS12-40| 50 | 4 | 17 | 25 | 3 | 10| 52 | 56.5 | 83 | 82 | 92 RMXS16-100| 65 | 6 | 30 | 35 | 5 | 56 | 118 | 119 | 199 | 198 | 210 [NN-MEx1RERIZ
RMXS12-50 | 35 | 6 | 15| 36 | 3 | 22 | 60 | 66.5 | 103 | 102 | 112 NN-MS x 0. 8847 10 RMXS16-125| 70 | 8 | 19 | 35 | 7 | 68 | 155 | 144 | 249 | 248 | 260 HEAA %, BB
RMXS12-75| 55 | 6 | 25 | 36 | 4 | 43| 85 | 91.5 | 149 | 148 | 158
RMXS12-100| 65 | 6 | 35 | 38 | 5 | 52 | 130 | 116.5 | 203 | 202 | 212 EHEAA A EBB
R IS o 1t T =
mﬂ!ﬁ#ﬁﬁ%eﬁcﬁ@ www.rplus168.com www.rplus168.com !ﬁﬁi’n”n‘(ﬁnﬁf‘ﬂm




¥ PLus

B A REL

RMXS & 5l

RMXS % %

B A REL

ﬁ,, iz

R

RMXS 20 RMXS 25
2-M8 x 1.258240i%8.5
3 13 2_M6 x 1H245R6.5 HEEDE: 2-Re(PT)1/8 4 16 SO 2-RoPT)I/8
16.5(4 17724
65 J \ | 12 B4 (LI TRBSEE) ° 8 J L 15, BAIGSEMTREELE)
S T8 N =]
@ - & €9 A\
< ! [
Hl ) E -_l oo
N - S -
1. . N X
b 1 A\GB \\7 — L 2|
H \V L
o Fas) - *2-M8 x 1.25824i%8.5
4] \ HJ «I s | |15 *(#7A2100mm. 125, 150mmB4{ERTL)
L || b
K 31
i‘
6.5 | |12 *2_M6 x 1424IR6.5
*(#7#2100mm, 125, 150mmA4{ER7L) N-M6 x 14241513
25 B0 #
K \ 545 BMTREEER P R 22 7
TR E
T J@_"P LA m\ 6-M6 x THRALIF10
- (Y
46.5 BIRITIEREER BRTREEEE 18 . -‘—% —~ . ? ’(._, s
N-M5 x 0. 8#ALR10 @ . A h il M — 3
g g - ’
6-M5 x 0. BUZATRS Q 2 A _ __ © o m =
o 6 Eaa ~ Ot e O O |89 § 2
g (IR VAS o 3
® ) (& NE 5 Py & I*LLE: ®) ®
© | (o) ®
® ﬂ d e © & ® =) V@ / = 5 ©
of H[E o o - o of & © o /s E 2 )
© Wﬂl@] | / FFY ] ¥ mmp N ® »6H9"2™ &6 N z
@ [©) S|E o ° > & ® 8 2-MB x 1. 254815 30 (-9~ 2
'p© ™ " ii em" [(e]
g
25 F Ty
K 0 15 M
#5H9 00 &5, (N-1) ER S
— —1)xF
2-M6 x 1324013 27 2 :ct)
w
B R
34 16 34 16
(NN=1)x H .G
t 2 Ewﬂr—
H ‘ 0 13 M W W
— — E ZZ /\E & N «
. N s 2% NVio BEE
(NN-1)xH G +—E ®
- | g | S L P D
17PN —% 1 ¢ © —
Do o006 r
m\ HE ‘EBE*’ NN-M8 x 1.258247 16
- Y z i M8 x 1. =
' 1 @O o
A . B 7z X .
Hii=i} BEAA #EBB
Nl i)
! A B
(mm) - T
RIgE FIrFF| N| | H | NN I J K | ™ z 7z »0 (mm)
RMXS20-10 | 50 | 40 | 4 | 15 | 45 | 2 | 10 | 44 | 31 | 83 | 815 97 | s 1 . - N s N N | ) D " B .
— I
RMXS20-20 | 80 | 40 | 4 | 15 | 45 | 2 | 10 | 44 | 41 | 83 | 815 7 -~ 9 - RMXS25-10 | 50 40 4 22 45 2 12 47 35 92 90.5 108
RMXS20-30 | 50 | 40 | 4 | 15| 45 | 2 | 10 | 44 | 51 | 83 | 815 97 ®© 2|~ :
AMXS20-20 1 60 130 1 2 1 15 155 1 2 | 10 152 | 61 93 | 915 07 RMXS25-20 | 50 40 4 22 45 2 12 47 45 92 90.5 108
RMXS20-50 | 35 | 35 | 6 | 15 | 35 | 3 | 10 | 69 | 71 | 108 | 106.5 | 122 RMXS25-30 | 50 40 4 22 45 2 12 47 55 92 90.5 108
RMXS20-75 | 60 | 60 | 6 | 19 | 35 | 4 | 10 | 108 | 96 | 147 | 1455 161 RMXS25-40 | 60 50 4 22 55 2 12 57 65 102 100.5 118
RMXS20-100 | 70 | 70 | 6 | 37 | 35 | 5 | 58 |113 | 121|200 | 198.5 | 214
avxs20-125 T 70 T 70 T8 a1 38 T 6 10 1o 146 252 2o e | 26a P — RMXS25-50 | 35 35 6 20 35 3 12 70 75 115 113.5 131
RMXS20-150 | 80 | 80 | & | 19 | 22 | = | 87 [190 | 171 306 | 3045 | 320 RMXS25-75 | 60 60 6 26 35 4 33 90 100 156 154.5 172
HEAA #E@BB RMXS25-100 | 70 70 6 32 35 5 50 114 125 197 195.5 213
RMXS25-125 | 75 75 8 40 38 6 67 155 150 255 2535 271
RMXS25-150 | 80 80 8 30 40 7 82 180 175 295 293.5 311
2= 2y \=] oin £ T A=
Wﬂ!ﬂﬁ?ﬂ?ﬁcﬁ@ www.rplus168.com www.rplus !i@c’n”n‘(ﬁe%o“&lm




&
W PLUS B E R RMXS 2 5] RMXQ# 5 BARE y HIERIE

Fo 5 A% (mm) RMXQ6 | RMXQ8 | RMXQi12 | RMXQ16 | RMXQ20 | RMXQ25
BAEBIBA(R R, BERSE) ST () ©6x2 ©8x2 0122 ©16x2 | ©20x2 ©25%2
B 2-F & (HBER 08) |(HHER011) | HHER 017) | HHER 022) | FHER 028) | HHER 035)
. EAmE =R
P -
) D @u o o © BiEA e {ER
< 61>@—€ 5@ - —© EBEEEN 0.7MPa
u @‘ 4 @ hd BESFERES 0.15MPa
c REBMRAEAE —10~+60°C(ERELE)
WA, RE, BES —
. VAT HEE R A R D EERE 50~500mm/s(4 BBRAI&F:50~200mm/s)
i 7= S 45 e s S 45 > g
e ) G “F47E: 30um, EHE: 50um . RBEE(EY). AEEHS. HEBRAS)
. RREIHE, 2fEH S - "
N =52 7
R-# i 88 & AR FREEAZ(@mm) -
- ° i TR (BEBREE) pren p——
R *B] RS HE M I RR
iEmE W gEnm M5 x 0.8 ‘ Rei/s
| 2-K — -
Ej‘ﬁ[— B ! a Ik AT 1 SHISOVGa2.
|
S e Heo———o—fg—- R @ERE
== "37—55&1 ° < & HARE
T i © o
F i Eaal ) GEEEETRA | EawE] S D I
71 enmmre| TRE | semmrm| B f 4 R
5 u B Lo fr#(mm) suppas| PRC |sespu| ¥ o B — e
a ‘ = e s (mm)| 1020 30 40 50 75100125150 §f % 7 & % W 8 & W gfﬁg ki3 olojlo|o|o]|oO
J %’[ ’ o o o Py B | HREL O w6 AS,CS |o|lololo]l oo
| ™ ] RMXQ6 [RMXQ6L| 6 ® AT, CT O | 0] x X X | x
L D) N7~ \
) ©o—& ©— RMXQ8 |RMXQ8L| 8 Py RLYD_81 AC olol x| x| x| x
| Y Y ) RMXQ12 [RMXQ12L| 12 ® BS o M o o X X
[ RMXQ16[RMXQ16L] 16 . BT o ol x 1 x| x| x
|HETE ! RMXQ20|RMXQ20L| 20 Py B 0 X X X X X
=7 FMXQ25[RMXQ23L| 25 Ps ) KERRARARNT oT[iEM R ITEH
w w SERMEENNEI]
aeens ERRES i BISRRTT &
" B BARAELSE
EAZRE | EMMERR
o 2 RMXQ ! RLYD-81
llo| @ - - TR TTiRE
P -8 [ & & : - L SRR RS (IR TE) o | 4
oo | e - Jh o et 2 = B BRI
HAE D _fE A PRAl Py 208 o 4 g -
° L- 7R AS | 0B o mEE| 2f
—eTe - = B AT | BHIBERAS an 1 i s 1@
| ¢" %: A Wity P e EE - =
| o3 % & & o BS| W FR® | nERE®mLRE —
= ; ; ; BT | w R BRRER g [==) S A D B () SR
I A A\ w B | & o 38 = AR IET =]
s HO—oO——© s L EE2)BARRMXQ6 &
i J j LS | Bl ® > ° F # s s s
\d © © CT | #BRas [an ﬂaﬁiﬁﬂiﬂi’% srmmis €=—2ap, n)
[ ~ e =
i N > N C M FE | Bk | ZBEE RS (MPa)
. 1) B ARRMXQE, (mm) |FE | mme
| ¢@ ¢@ Py ' G R TIES S 02]03|04|05|06]| 07
hd = ' P 57 | 11|17 |23 |29 |34 | 40
T & ¢ | ne X2
i 42 8 | 1317 |21 [ 25 | 29
— 2 1 101 | 20| 30|40 | 51|61 71
OB Ty 75 | 15| 23|30 [38 |45 | 53
LT o160 ! 226 | 45| 68 | 90 |113| 136 158
(mm) 7 FA “I"® | 170 [ 34| 51|68 85102119
J fE
#BEE | A|B| C D |E = G| H | K L|{M|N/|O P Q| R S T U ﬁa 402 80 | 121| 161|201| 241| 281
10 | 20| 30 | 40| 50 | 75 | 100 | 125 | 150 AEE ®16x2 pre 12111511 181
RMXs6| 24 [ 10| 28 | 19 [0.5 |m3x05] 22| - | - | - - - - - - - - - - | -] -] -|56|mx0555] 12 [26.3| 8 |11.5 - 302 60 | o1 211
Axss| 30 |12 [28.5]22.5[0.5 [Max07(225| 65 | 9 | 39 | 44| 55 | 73| o1 | 141 | - | - — [M5x08] 10 [155] 3 |6.5|M5x08]65 15 |32.2| 12 |135 ©20x2 e 628 | 126|188 251|314 377| 440
RMXS12| 38 [ 16 | 37 | 30 |0.5|M5x08| 29 | 9.5 |10.5| 59.5 | 59.5| 59.5 71.5| 915 |137.5[191.5 - — [M5x08(|14.5| 20 | 3 |6.5|M5x08|9.5| 20 | 42 | 12 [18.7 ﬁ 471 94 | 141| 188|236 | 283| 330
RUxS16] 48 | 20 | 41 [375[0.5| Mext | 30| 12 [ 13| 62 | 62| 62 | 72| 87 | 137 [ 185 | 235 | - [wmsx08| 18| 25| 3 [6.5|msx08[12] 26 [53.3] 12 [235 1 982 | 196]| 295| 393|491/ 589 687
RMXS20| 58 | 25 |44.5|45.5|0.5| M6x1 |30.5| 15 |15.5| 68.5 | 68.5| 68.5 78.5| 93,5 |132.5(185.5[239.5(291.5| Re18 | 20 | 30 | — [11.5| Re1/8 | 15| 32 |65.7| 20 |29.5 ®25x2 lgﬁ 756 151 227 302|378 454| 529
RMXS25| 70 | 31| 50 | 55 | 0.5 |M8x125 35| 18 | 18 76 76 76 86 99 140 181 239 | 279 | Re18 [25.5| 35 | — [11.5| Re1/8 | 18| 40 [80.7| 20 [35.5

&) EimEmd A (N) =FBH (MPa) xZEBEHE (mm*) .
EX N P a1 £ NS
%’?SE?&%EE&E‘ www.rplus168.com www.rplus168.com !ﬁ@!ﬁ?ﬁn};&f‘ﬂ




P: PLUS B AR RMXQ % 3l RMXQ % 5l B AR R HIiE T

SpRERTE X £ % (RMXQ8)
ZEER(RMXQ6)
0
(2]
S 2-M3x 0.5 4R 4
ﬁ o0
ﬁ,"" o
g #HRFL 2-M5x0.8
X un
0 s 53 7
o & N o T
EI % z 3.5 J | 8 BRN(HERATREE)
< g w
o '; A 3]§ |
é S ET A\ \EF
= S N W s IS PN
@ X A iﬁ iz © O B o
BIEITRER & [_. éf 2 B
2-M2.5 x 0.4582 413 = S o ! i © j -
#3992 5 N-M3 x 05841 R4 b %..,fﬁ - -
. #O52-M5x0.8 4 EmEAEER WG RER
IQ Bl
3 J | 6 BR10(FHEHAITIEESR) ° 399 53 N-M3x 0.5 48240R5
. ; — BWETRER
o i / e
=T Pa—! ?ﬁ BT d - & i 5
HE © © T . & P S =S [ ] A\ °
) S — = AV
) e ) 3 i == i
CI. = e £ L % 7 R —c )
| o x sy 7 A Pz :B
S ) o 0 g 5 3 & & 5 o o g
ER s o &l ol [9 ©
N ® % o & 1
11 (3-)xF * 17 15 p -
F
K ERMXQ6-30 2
(-1)r £
5 M 20 16 13 12 27 /x o
4-M2.5x 0.4582417R2.5 s " ™
K 12.5
KA 14.6
3 |65 38 | 7 NA-M3x 0.5 £ &3.5 R#EIRMXQ8-30
. . NA-MS3 x0.55/0ix3.5
c p M K 14.6
= S H 27 23 6
o o-& 3: ) 38 | 7
© o ) <«
T NN N . -6 |08 -
, HF 8K 8 o @o——=
. L4 & &> , il &
Y4
(NN-1)xH G
(NN=1)xH G
H
10.5 . 10.5 5.5 H 12.5, 5.7 12.5 5.7
’.A . B LA -8
— o . E‘} n Y] W w0
il o n ©| ~ () O~
- o o 3| 19y B o KpElely 9 pplels
N, . & i’ o i = 1000 o —0o © =1 ==
% 99O N o - B = Z@E'U
B 33 _F - E -
- ; 8 LE 4
TR ) iy '
A e z -4 4 B % NN-M4x0.7 48
4 NN-M4 x 0.7 82 4UR 8 3H9 3 HA GA g
d’ -0025% g o
23H9C =52 5 HA GA , i - £ . .
HEAA #mBB o HEAA #,EBB
(mm)
(mm) BigE F N H NN GA HA | J K KA NA M z 7z
RMXQ8-10 25 4 7 25 2 13 19 11 17 23.5 - 4 46 45.5 53
sk F N G H NN GA HA ' J K M z zz RMXQ8-20 25 4 14 28 2 14 28 10 28 | 335 - 4 56 | 555 63
RMXQ6-10 22 4 6 23 2 13 16 9 17 21.5 42 415 48 RMXQ8-30 26 6 - - 3 29 27 12 40 43.5 - 4 70 69.5 77
RMXQ6-20 25 4 13 26 2 13 26 9 27 315 52 51.5 58 RMXQ8-40 32 6 8 31 3 39 31 14 52 53.5 - 4 84 83.5 91
RMXQ6-30 21 6 - - 3 29 20 9 37 415 62 61.5 68 RMXQ8-50 46 6 29 4 37 58 13 78 63.5 | 825 8 109 | 1085 | 116
RMXQ6-40 26 6 11 28 3 39 28 16 48 51.5 80 79.5 86 RMXQ8-75 50 6 31 30 4 61 60 12 105 | 885 | 112.5 3 135 | 134.5 | 142
RMXQ6-50 27 6 21 28 3 49 28 9 65 61.5 90 89.5 96
= 3 IS o 1t T =
Wﬂ!ﬂiﬁ?ﬂﬁﬁé‘ www.rplus168.com www.rplus168.com !i@c’n”n‘(ﬁeﬁcf‘ﬂm




	銣佳科技画册封面20180423
	页 1
	页 2
	页 3

	1-30
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

	第二部分
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15

	第三部分
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15

	第四部分
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15

	第5部分
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18


